
tc rd vkidks ;g ijh{k.k iqfLrdk [kksyus dks u dgk tk, rc rd u [kksysa

	

ijh{k.k iqfLrdk

lkekU; vè;;u

(tuojh eSx”khu tk¡p ijh{kk)
fnukad& 19-01-2020

le; % nks ?k.Vs	 iw.kk±d % 200

vuqns'k
	 1-	 ijh{kk izkjEHk gksus ds rqjUr ckn] vki bl ijh{k.k iqfLrdk dh iM+rky vo'; dj ysa fd blesa dksbZ fcuk 

Nik] iQVk ;k NwVk gqvk i`"B vFkok iz'u vkfn u gksA ;fn ,slk gks rks bls lgh ijh{k.k iqfLrdk ls cny 
yhft;sA

	 2-	 mÙkj&i=kd esa lgh LFkku ij ijh{k.k iqfLrdk vuqØe A, B, C ;k D ;FkkfLFkfr Li"V :i ls dwVc¼ dhft;sA 

	 3-	 bl iafDr ds lkFk esa fn;s x, dks"Bd esa vkidks viuk 
vuqØekad fy[kuk gSA ijh{k.k iqfLrdk ij vkSj oqQN u 
fy[ksaA

	 4-	 bl ijh{k.k iqfLrdk esa 100 iz'uka'k (iz'u) fn;s x, gSaA izR;sd iz'uka'k fgUnh vkSj vaxzs”kh eas Nik gSA izR;sd iz'uka'k 
esa pkj izR;qÙkj (mÙkj) fn;s x, gSaA buesa ls ,d izR;qÙkj dks pqu ysa] ftls vki mÙkj&i=kd ij vafdr djuk pkgrs 
gSaA ;fn vkidks ,slk yxs fd ,d ls vfèkd izR;qÙkj lgh gSa rks ml izR;qÙkj dks vafdr djsa tks vkidks loksZÙke yxsA 
izR;sd iz'uka'k ds fy;s dsoy ,d gh izR;qÙkj pquuk gSA

	 5-	 vkidks vius lHkh izR;qÙkj vyx ls fn;s x, mÙkj&i=kd ij gh vafdr djus gSaA mÙkj&i=kd esa fn;s x, funsZ'k 	
ns[k ysaA

	 6-	 lHkh iz'uksa ds vad leku gSaA

	 7-	 blls igys fd vki ijh{k.k iqfLrdk ds fofHkUu iz'uka'kksa ds izR;qÙkj mÙkj&i=kd ij vafdr djuk 'kq: djsa] vkidks 
izos'k izek.k&i=k ds lkFk izsf"kr vuqns'kksa ds vuqlkj dqN fooj.k mÙkj&i=kd esa nsus gSaA 

	 8-	 vki vius lHkh izR;qÙkjksa dks mÙkj&i=kd esa Hkjus ds ckn rFkk ijh{kk ds lekiu ij dsoy mÙkj&i=kd vèkh{kd dks 
lkSai nsaA vkidks vius lkFk ijh{k.k iqfLrdk ys tkus dh vuqefr gSA

	 9-	 dPps dke ds fy;s dqN i=kd ijh{k.k iqfLrdk ds var esa layXu gSaA

	 10-	 xyr mÙkjksa ds fy;s naM%
		  oLrqfu"B iz'u&i=kksa esa mEehnokj }kjk fn;s x, xyr mÙkjksa ds fy;s naM fn;k tk,xkA
	 (i)	 izR;sd iz'u ds fy;s pkj oSdfYid mÙkj gSaA mEehnokj }kjk izR;sd iz'u ds fy;s fn;s x, ,d xyr mÙkj ds fy;s 

iz'u gsrq fu;r fd;s x, vadksa dk ,d&frgkbZ n.M ds :i esa dkVk tk,xkA
	 (ii)	 ;fn dksbZ mEehnokj ,d ls vfèkd mÙkj nsrk gS] rks bls xyr mÙkj ekuk tk,xk] pkgs fn;s x, mÙkjksa esa ls ,d mÙkj 

lgh gks] ml iz'u ds fy;s mi;qZDrkuqlkj gh naM fn;k tk,xkA
	(iii)	 ;fn mEehnokj }kjk dksbZ iz'u gy ugha fd;k tkrk gS vFkkZr~ mEehnokj }kjk mÙkj ugha fn;k tkrk gS] rks ml iz'u ds 

fy;s dksbZ n.M ugha fn;k tk,xkA

tc rd vkidks ;g ijh{k.k iqfLrdk [kksyus dks u dgk tk, rc rd u [kksysa

djsaV vQs;lZ VqMs
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	 1.	^O;kikj lqxerk lwpdkad&2020* ds lanHkZ esa fuEufyf[kr 
dFkuksa ij fopkj dhft;s%

	 1.	 fo'o cSad }kjk tkjh bl lwpdkad esa Hkkjr dks 
190 ns'kksa esa 63ok¡ LFkku izkIr gqvk gSA 

	 2.	 bl lwpdkad esa MsuekdZ dks igyk vkSj LohMu 
dks vafre LFkku izkIr gqvk gSA 

	 3.	 Hkkjr yxkrkj rhljs o"kZ O;kikj okrkoj.k esa    
lq/kj djus okyh 'kh"kZ 10 vFkZO;oLFkkvksa dh 
lwph esa 'kkfey gqvk gSA 

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh ugha gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2
	 (c)	 dsoy 1 vkSj 3 	 (d)	 1, 2 vkSj 3
	 2.	^{ks=kh; O;kid vkfFkZd Hkkxhnkjh* (vkj-lh-bZ-ih-) lewg 

ds lanHkZ esa fuEufyf[kr dFkuksa ij fopkj dhft;s%
	 1.	 Hkkjr ljdkj us 7 o"kks± rd pyh okrkZvksa ds ckn 

bl lewg esa 'kkfey gksus dk fu.kZ; fy;k gSA

	 2.	 vkj-lh-bZ-ih- 10 vkfl;ku vFkZO;oLFkkvksa o blds 
6 vU; Hkkxhnkjksa ds eè; izLrkfor ,d eqDr 
O;kikj le>kSrk gSA 

	 3.	 vkj-lh-bZ-ih- ij okrkZ dh vkSipkfjd 'kq#vkr 
uoacj 2012 esa dacksfM;k esa vk;ksftr vkfl;ku 
f'k[kj lEesyu esa dh xbZ FkhA 

	 4.	 vius ewy Lo:i esa vkj-lh-bZ-ih- oSf'od vkcknh 
ds 45%, oSf'od O;kikj ds 40% rFkk oSf'od 
thMhih ds 30% fgLls dk izfrfuf/Ro djrk gSA 

	 	mi;qZDr dFkuksa esa ls dkSu&ls lgh gSa\

	 (a)	 dsoy 2, 3 vkSj 4 	 (b)	 dsoy 1 vkSj 3
	 (c)	 dsoy 1, 2 vkSj 4 	 (d)	 1, 2, 3 vkSj 4
	 3.	13 uoacj] 2019 dks loksZPp U;k;ky; us vius ,d 

fu.kZ; esa loksZPp U;k;ky; ds eq[; U;k;k/h'k ds 
dk;kZy; dks lkoZtfud izkf/dj.k crkrs gq, bls RTI 
ds nk;js esa yk fn;k gSA bl lanHkZ esa fuEufyf[kr dFkuksa 
ij fopkj dhft;s%

	 1.	 ;g fu.kZ; loksZPp U;k;ky; ds eq[; U;k;k/h'k 
lfgr ik¡p U;k;k/h'kksa dh laoS/kfud ihB us 
fn;k gSA 

	 2.	 ;g fu.kZ; RTI dk;ZdÙkkZ lqHkk"k vxzoky ds o"kZ 
2009 esa lwpuk ds vuqjks/ ls lacaf/r gSA 

	 3.	 RTI ds varxZr CJI dk;kZy; ds lkFk&lkFk 
U;k;k/h'kks a dh laifÙk vkfn dh tkudkjh 
lkoZtfud dh tk ldrh gSA 

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh ugha gS@gSa\

	 (a)	 dsoy 3	 (b)	 dsoy 1 vkSj 2
	 (c)	 dsoy 2 vkSj 3 	 (d)	 1, 2 vkSj 3

	 1. 	Consider the following statements in the context 
fo 'Ease of doing business Index -2020':

	 1.	 India has been ranked 63rd, out of 190 
countries in this index, released by the 
World Bank.

	 2.	 Denmark ranks first and Sweden ranks last 
in this index.

	 3.	 India for the third consecutive year, included 
in the list of top 10 economies where the 
business climate has improved the most.

		  Which of the statement(s) given above is/are not 
correct?

	 (a)	 1 only	 (b)	 2 only
	 (c)	 1 and 3 only	 (d)	 1, 2 and 3

	 2. 	Consider the following statements in the context 
of 'Regional Comprehensive Economic Partnership' 
(RCEP) group:

	 1.	 The Government of India has decided to join 
this group after 7 years of long negotiations.

	 2.	 The RCEP is a free trade agreement 
proposed among 10 ASEAN economies and 
its 6 other partners.

	 3.	 The RCEP talks were formally initiated in 
November 2012 at the ASEAN Summit in 
Cambodia.

	 4.	 RCEP basically represents 45% of global 
population, 40% of global trade and 30% of 
global GDP.

		  Which of the statements given above are correct?
	 (a)	 2, 3 and 4 only	 (b)	 1 and 3 only
	 (c)	 1, 2 and 4 only	 (d)	 1, 2, 3 and 4

	 3. 	On November 13th, 2019, the Supreme Court in 
one of its judgments, by declaring the office of 
Chief Justice of the Supreme Court as a public 
authority, has brought it under the purview of the 
RTI. Consider the following statements in this 
context:

	 1.	 This decision has been pronounced by 
a constitutional bench of five judges, 
including the Chief Justice of the Supreme 
Court.

	 2.	 This decision is related to the request for 
information in the year 2009 by the RTI 
activist Subhash Aggarwal.

	 3.	 The information about assets of judges, 
along with CJI office can be made public 
under RTI.

		  Which of the statement(s) given above is/are not 
correct?

	 (a)	 3 only	 (b)	 1 and 2 only
	 (c)	 2 and 3 only	 (d)	 1, 2 and 3
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	 4.	ns'k esa fo/k;h fudk;ksa dks dkjxj cukus ds fy;s 
mijk"Vªifr osadS;k uk;Mw us 15 lw=kh; lq>ko fn;s gSaA 
fuEufyf[kr esa ls dkSu&lk@ls bu lq>koksa esa 'kkfey gS@gSa\

	 1.	 fo/s;d ikfjr gksus ls igys vkSj ckn esa mlds 
lkekftd] vkfFkZd] iz'kklfud ,oa i;kZoj.kh; 
izHkkoksa dk vè;;u fd;k tkuk pkfg;sA 

	 2.	 lalnh; lfefr;ksa dk dk;Zdky orZeku ds ,d 
o"kZ ls c<+kdj vkSj vf/d fd;k tkuk pkfg;sA 

	 3.	 laln rFkk jkT; fo/kulHkkvksa dh izfro"kZ gksus 
okyh cSBdksa dh la[;k fu;r dh tkuh pkfg;sA 

	 4.	 efgyk vkj{k.k fo/s;d ij dk;Zokgh dks vkxs 
c<+k;k tkuk pkfg;sA 

	 	uhps fn;s x, dwV dk iz;ksx dj lgh mÙkj pqfu;s%

	 (a)	 dsoy 2	 (b)	 dsoy 3 vkSj 4
	 (c)	 dsoy 1, 2 vkSj 4 	 (d)	 1, 2, 3 vkSj 4
	 5.	^mikluk LFky vf/fu;e* ds lanHkZ eas fuEufyf[kr 

dFkuksa ij fopkj dhft;s%
	 1.	 ;g vf/fu;e ckcjh efLtn ds foèoal ls ,d 

o"kZ igys flracj 1991 esa ikfjr fd;k x;k FkkA 

	 2.	 bl vf/fu;e dh /kjk&3 ds rgr fdlh iwtk 
LFky ;k mlds fdlh [kaM dks vyx /kfeZd 
laiznk; ds iwtk LFky esa cnyus ij izfrca/ yxk;k 
x;k gSA 

	 3.	 bl vf/fu;e ds izko/ku mu izkphu ,oa 
,sfrgkfld Lekjdksa rFkk iqjkrkfÙod LFkyksa vkSj 
vo'ks"kksa ij ykxw ugha gksaxs ftUgsa izkphu Lekjd 
rFkk ^iqjkrkfÙod LFky vkSj vo'ks"k vf/fu;e] 
1958* }kjk lajf{kr fd;k x;k gSA 

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 3	 (b)	 1] 2 vkSj 3

	 (c)	 dsoy 1 vkSj 2 	 (d)	 dsoy 2 vkSj 3
	 6.	v;ksè;k fookn ij loksZPp U;k;ky; ds eq[; U;k;kèkh'k 

jatu xksxksbZ dh vè;{krk okyh ihB }kjk fn;s x, vafre 
fu.kZ; esa fuEufyf[kr esa ls dkSu&lk@ls 'kkfey gS@gSa\

	 1.	 lexz fookfnr Hkwfe (2.77 ,dM+) fganqvksa dks  
feysxhA 

	 2.	 fookfnr 2.77 ,dM+ Hkwfe dk dC”kk dsanz ljdkj 
ds fjlhoj (eqdnes ds v/hu laifÙk dk ljdkjh 
izca/dÙkkZ) ds ikl jgsxkA

	 3.	 eqfLyeksa dks oSdfYid :i ls fookfnr <k¡ps ds 
vkl&ikl dsanz ljdkj }kjk vf/x`ghr Hkwfe ;k 
fdlh vU; izeq[k LFkku ij ik¡p ,dM+ ”kehu 
nh tk,xhA 

	 4.	 eafnj fuekZ.k ds fy;s 3 eghus ds vanj ,d VªLV 
cuk;k tk,xkA 

	 4. 	The Vice President Venkaiah Naidu has 
recommended 15-point suggestions in order to 
make the legislative bodies in the country effective. 
Which of the following is/are included in these 
suggestions?

	 1.	 The social, economic, administrative and 
environmental impacts should be studied 
before and after the passage of the bill.

	 2.	 The tenure of parliamentary committees 
should be extended from the present one year.

	 3.	 The number of meetings of Parliament and 
State Legislatures, to be held every year, 
should be fixed.

	 4.	 Action on the Women's Reservation Bill 
should be taken forward.

		  Select the correct answer using the code given 
below:

	 (a)	 2 only	 (b)	 3 and 4 only
	 (c)	 1, 2 and 4 only	 (d)	 1, 2, 3 and 4

	 5. 	Consider the following statements in the context 
of  'Place of Worship Act':

	 1.	 The Act was passed in September 1991, a 
year before the demolition of Babri Masjid.

	 2.	 Section 3 of this Act prohibits the conversion 
of a place of worship or any part of it into a 
place of worship of another religious sect.

	 3.	 The provisions of this Act shall not be 
applicable on those ancient and historical 
monuments and archaeological sites and 
relics which have been protected by the 
'Ancient Monuments and Archaeological 
Sites and Remains Act, 1958'.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 3 only	 (b)	 1, 2 and 3
	 (c)	 1 and 2 only	 (d)	 2 and 3 only

	 6. 	Which of the following is/are included in the final 
decision given by the bench, headed by Chief 
Justice Ranjan Gogoi, of the Supreme Court on 
the Ayodhya dispute?

	 1.	 The entire disputed land (2.77 acres) will be 
given to the Hindus.

	 2.	 The disputed 2.77 acres of land will be held 
by the receiver of the central government 
(the government manager of the property 
during the litigation).

	 3.	 The Muslims will be given 5 acres of land 
acquired by the central government around 
the disputed structure or at some other 
prominent place as an alternate.

	 4.	 A trust will be constituted for the 
construction of the temple within 3 months.
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	 	uhps fn;s x, dwV dk iz;ksx dj lgh mÙkj pqfu;s%

	 (a)	 dsoy 1

	 (b)	 dsoy 2, 3 vkSj 4

	 (c)	 dsoy 1 vkSj 3 

	 (d)	 1, 2, 3 vkSj 4
	 7.	^fo'o izfrHkk jSafoaQx&2019* ds lanHkZ esa fuEufyf[kr 

dFkuksa ij fopkj dhft;s%

	 1.	 baVjus'kuy baLVhV~;wV iQkWj eSustesaV MsoyiesaV    
}kjk tkjh fo'o izfrHkk jSafoaQx&2019 esa Hkkjr dks 
59ok¡ LFkku izkIr gqvk gSA 

	 2.	 bl lwph esa fLoV~”kjySaM us igyk LFkku izkIr 
fd;k gS] blds ckn MsuekdZ vkSj LohMu Øe'k% 
nwljs rFkk rhljs LFkku ij gSaA 

	 3.	 jSafdax ds vuqlkj] vf/dka'k izeq[k vFkZO;oLFkkvksa 
us fuos'k vkSj fodkl ij è;ku dsafnzr djds 
nh?kZdkfyd fodkl ij ”kksj fn;k gSA 

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1

	 (b)	 dsoy 1 vkSj 2

	 (c)	 dsoy 2 vkSj 3 

	 (d)	 1, 2 vkSj 3
	 8.	^jk"Vªh; lkaf[;dh vk;ksx* ds lanHkZ esa fuEufyf[kr dFkuksa 

esa ls dkSu&lk@ls lgh gS@gSa\

	 1.	 bl vk;ksx dh LFkkiuk 12 tqykbZ] 2006 dks dh 
xbZ FkhA 

	 2.	 bl vk;ksx esa ,d va'kdkfyd vè;{k] pkj 
va'kdkfyd lnL; rFkk ,d insu lnL; gksrk gSA 

	 3.	 Hkkjr dk eq[; lkaf[;dhfon~ bl vk;ksx dk 
lfpo gksrk gSA 

	 	dwV%

	 (a)	 1] 2 vkSj 3

	 (b)	 dsoy 1 vkSj 2

	 (c)	 dsoy 2 vkSj 3

 	 (d)	 dsoy 3
	 9.	gky ds lekpkjksa esa jgk ^jkscks&ch* gS&

	 (a)	 ,d lqij daI;wVjA

	 (b)	 Hkkjr ds Ñf"k oSKkfudksa }kjk fodflr /ku dh 
mUur fdLeA

	 (c)	 gkWoZMZ ekbØksjkscksfVDl yscksjsVjh ds 'kks/dÙkkZvksa 
}kjk rS;kj jkscksVA

	 (d)	 if'pe caxky esa [kksth xbZ e/qeD[kh dh ,d ubZ 
iztkfrA

		  Select the correct answer using the code given 
below:

	 (a)	 1 only
	 (b)	 2, 3 and 4 only
	 (c)	 1 and 3 only
	 (d)	 1, 2, 3 and 4

	 7. 	Consider the following statements in the context 
of  'World Talent Ranking-2019':

	 1.	 India has been ranked 59th in the World 
Talent Ranking-2019 released by the 
International Institute for Management 
Development.

	 2.	 Switzerland has been ranked first in this 
list, followed by Denmark and Sweden in 
second and third place respectively.

	 3.	 According to the rankings, most of the 
major economies have emphasized long-
term growth by focusing on investment and 
growth.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 only
	 (b)	 1 and 2 only
	 (c)	 2 and 3 only
	 (d)	 1, 2 and 3

	 8.	  Which of the following statement(s) is / are correct 
in the context of  'National Statistical Commission'?

	 1.	 This commission was established on 12th 
July 2006.

	 2.	 This commission consists of a part-time 
chairman, four part-time members and an 
ex-officio member.

	 3.	 The chief statistician of India is the secretary 
of this commission.

		  Code:
	 (a)	 1, 2 and 3
	 (b)	 1 and 2 only
	 (c)	 2 and 3 only
	 (d)	 3 only

	 9. 	'Robo-B', which has been in the news recently, is 
a/an-

	 (a)	 Super computer.
	 (b)	 Advanced variety of paddy developed by 

agricultural scientists of India.
	 (c)	 A Robot made by researchers at the Harvard 

Micro-Robotics Laboratory.
	 (d)	 A new species of bee discovered in West 

Bengal.
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	10.	gky gh esa Hkkjr ljdkj us lkoZtfud {ks=k ds dsanzh; 
miØeksa ^fganqLrku isVªksfy;e dkWiksZjs'ku fyfeVsM* vkSj 
^ikoj fxzM dkWiksZjs'ku vkWiQ bafM;k fyfeVsM* dks ̂ egkjRu* 
dk ntkZ fn;k gSA ̂ egkjRu* ds ntsZ gsrq vko';d ekunaM 
fuEufyf[kr esa ls dkSu&lk@ls gS@gSa\

	 1.	 daiuh dks uojRu dk ntkZ izkIr gksuk pkfg;sA 

	 2.	 daiuh ̂ lsch* ds fofu;eksa ds rgr U;wure fuèkkZfjr 

lkoZtfud fgLlsnkjh ds lkFk Hkkjrh; 'ks;j ck”kkj 

esa lwphc¼ gksuh pkfg;sA 

	 3.	 fiNys rhu o"kks± ds nkSjku vkSlr okf"kZd dkjksckj 

`25,000 djksM+ ls vf/d gksuk pkfg;sA  

	 	dwV%

	 (a)	 dsoy 1 vkSj 2	 (b)	 dsoy 3

	 (c)	 dsoy 2 vkSj 3 	 (d)	 1, 2 vkSj 3

	11.	dsanzh; j{kk ea=kky; us j{kk fu;kZrksa dks c<+kok nsus ds 

fy;s nks ^vksiu tujy ,DliksVZ ykblsalksa (vks-th-bZ-

,y-)* dks ea”kwjh nh gSA bl lanHkZ esa fuEufyf[kr dFkuksa 

ij fopkj dhft;s%

	 1.	 ;g fdlh daiuh dks ,d fof'k"V vof/ ds fy;s 

,d ckj fn;k tkus okyk fu;kZr ykblsal gSA 

	 2.	 vks-th-bZ-,y- ds rgr p;fur ns'kksa esa daifu;ksa 

ds eè; j{kk izkS|ksfxdh] dyiq”kks± vkfn dk 

gLrkarj.k fd;k tk,xkA 

	 3.	 blds rgr vuqefr izkIr ns'kksa dh lwph esa tkiku] 

dukMk] phu] ikfdLrku] bVyh vkSj b”kjkby 

'kkfey gSaA 

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh ugha gS@gSa\

	 (a)	 dsoy 3	 (b)	 dsoy 1 vkSj 2

	 (c)	 dsoy 2 vkSj 3 	 (d)	 1, 2 vkSj 3

	12.	^foÙkh; lekos'ku ij fjiksVZ* ds 12osa laLdj.k ds lanHkZ 

esa fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 bl fjiksVZ esa Hkkjr dks 5ok¡ LFkku izkIr gqvk gSA 

	 2.	 bl lwph esa 'kh"kZ ij dksyafc;k gSA is:] m#Xos 

vkSj esfDldks Øe'k% nwljs] rhljs vkSj pkSFks LFkku 

ij gSaA 

	 3.	 55 ns'kksa dh bl lwph esa MseksØsfVd fjifCyd 

vkWiQ dkaxks lcls fupys LFkku ij gSA 

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 1 vkSj 2

	 (c)	 dsoy 2 vkSj 3 	 (d)	 1, 2 vkSj 3

	 10. 	Recently the Government of India has conferred 
'Maharatna' status to the 'Hindustan Petroleum 
Corporation Limited' and the 'Power Grid 
Corporation of India Limited', the central public 
sector undertakings. Which of the following is/are 
the necessary criteria for 'Maharatna' status?

	 1.	 The company should have the status of 
Navratna.

	 2.	 The company should be listed in the Indian 
stock market with minimum prescribed 
public shareholding under SEBI regulations.

	 3.	 The average annual turnover should be 
more than Rs. 25,000 crore during the last 
three years.

		  Code:
	 (a)	 1 and 2 only	 (b)	 3 only
	 (c)	 2 and 3 only	 (d)	 1, 2 and 3

	 11.	  The Union Ministry of Defence has approved two 
'Open General Export Licenses' (OGEL) to 
promote defense exports. Consider the following 
statements in this context:

	 1.	 It is a one-time export license given to a 
company for a specific period.

	 2.	 The defense technology, components etc. 
will be transferred between companies in 
selected countries under OGEL.

	 3.	 The list of countries allowed under this 
includes Japan, Canada, China, Pakistan, 
Italy and Israel.

		  Which of the statement(s) given above is / are not 
correct?

	 (a)	 3 only	 (b)	 1 and 2 only
	 (c)	 2 and 3 only	 (d)	 1, 2 and 3

	 12. 	Consider the following statements in the context 
of the 12th edition of 'Report on Financial 
Inclusion':

	 1.	 India has been ranked 5th in this report.
	 2.	 Columbia tops this list. Peru, Uruguay and 

Mexico are ranked second, third and fourth 
respectively.

	 3.	 The Democratic Republic of Congo ranks at 
the bottom in this list of 55 countries.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 only	 (b)	 1 and 2 only
	 (c)	 2 and 3 only	 (d)	 1, 2 and 3
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	13.	^mPp xq.koÙkk okyh rjy laifÙk* (,p-D;w-,y-,-) ds 
lanHkZ esa fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 ;s ,slh ifjlaifÙk;k¡ gksrh gSa ftUgsa rjyrk ladV 
ds le; vklkuh ls vFkok ifjlaifÙk ds ewY; 
esa vis{kkÑr de ;k fcuk fdlh ßkl ds udnh 
esa ifjofrZr fd;k tk ldrk gSA 

	 2.	 udn] ljdkjh izfrHkwfr;ksa vkSj fons'kh foÙkh; 
laLFkkvksa }kjk tkjh izfrHkwfr;ksa vkfn dks ,p-D;w-
,y-,- esa 'kkfey fd;k tkrk gSA 

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2

	 (c)	 1 vkSj 2 nksuksa 	 (d)	 u rks 1] u gh 2
	14.	^foLrkfjr fuekZrk mÙkjnkf;Ro (bZ-ih-vkj-)* ds lanHkZ esa 

fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 ;g fdlh mRikn ls i;kZoj.k ij iM+us okys izHkkoksa 
dks U;wure djus dh i;kZoj.k laj{k.k j.kuhfr gSA 

	 2.	 blds rgr mRikn fuekZrk ij mRikn ds iwjs thou 
pØ ds fy;s] fo'ks"k :i ls mRikn ds vuqi;qDr 
gks tkus ij mls okil ysus] iqupZØ.k vkSj vafre 
fuiVku dk nkf;Ro vkjksfir fd;k tkrk gSA 

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2

	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1] u gh 2
	15.	fLoV~”kjySaM ds cgqjk"Vªh; fuos'k cSad ØsfMV lqbl xzqi 

}kjk tkjh ̂ okf"kZd Xykscy osYFk fjiksVZ] 2019* ds lanHkZ 
esa fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 fjiksVZ ds vuqlkj] nqfu;k ds 'kh"kZ 10% vehjksa 
esa ls vf/dka'k O;fDr phu ls gSaA

	 2.	 fo'o Hkj esa dqy djksM+ifr;ksa dh la[;k 46.8 
djksM+ gS ftuesa ls 2% djksM+ifr Hkkjrh; gSaA

	 3.	 Hkkjr ds lanHkZ esa ?kjsyw laifÙk esa 5.2% dh o`f¼ 
ntZ dh xbZ gS] tks fiNys 20 lkyksa dh vkSlr 
o`f¼ 11% ls dkiQh de gSA 

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 1] 2 vkSj 3	 (b)	 dsoy 1 vkSj 2

	 (c)	 dsoy 3 	 (d)	 dsoy 2 vkSj 3
	16.	^gkeksZukb”M flLVe dksM* (,p-,l-dksM) ds lanHkZ esa 

fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 ;g dksM Ng vadh; dksM gS] ftls fo'o lhek 
'kqYd laxBu }kjk fodflr fd;k x;k gSA 

	 2.	 ;g ,d cgqmn~ns'kh; varjkZ"Vªh; mRikn ukedj.k 
iz.kkyh gS] ftls izk;% ̂ lkoZHkkSfed vkfFkZd Hkk"kk* 
Hkh dgk tkrk gSA 

	 13.	  Consider the following statements in the context 
of  'High Quality Liquid Assets' (HQLA):

	 1.	 These are assets that can be easily converted 
into cash at a time of liquidity crisis or 
relatively little or no depreciation in the 
value of the asset.

	 2.	 Cash, government securities and securities 
issued by foreign financial institutions, etc. 
are included in HQLA.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 only	 `(b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2

	 14. 	Consider the following statements in the context 
of  'Extended Producer Responsibility (EPR)':

	 1.	 It is an environmental protection strategy to 
minimize the impacts on the environment 
from any product.

	 2.	 The product manufacturer is charged with 
the responsibility to take return, recycling 
and final disposal for the entire life cycle of 
the product, especially in the event of the 
product becoming unsuitable, under this.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2

	 15.	  Consider the following statements in the context 
of 'Annual Global Wealth Report, 2019' released 
by Credit Suisse Group, a multinational investment 
bank of Switzerland:

	 1.	 According to the report, most of the top 
10% of the world's richest persons are from 
China.

	 2.	 The total number of millionaires is 46.8 
crores in the world of which 2% are Indian.

	 3.	 In the context of India, domestic wealth has 
registered a growth of 5.2%, which is much 
lower than the average growth of 11% in the 
last 20 years.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1, 2 and 3	 (b)	 1 and 2 only
	 (c)	 3 only	 (d)	 2 and 3 only

	 16. 	Consider the following statements in the context 
of 'Harmonized System Code' (HS Code):

	 1.	 This code is a six digit code, developed by 
the World Customs Organization.

	 2.	 It is a multipurpose international product 
naming system, which is often referred to as 
'universal economic language'.
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	 3.	 ;g dksM iz.kkyh mRiknksa dh O;kikj izfØ;kvksa 
rFkk lhek 'kqYdksa dks lqlaxr cukrh gS vkSj 
varjkZ"Vªh; O;kikj esa ykxr dks de djrh gSA 

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 1 vkSj 2

	 (c)	 dsoy 2 vkSj 3 	 (d)	 1, 2 vkSj 3
	17.	^varjkZ"Vªh; ijek.kq ÅtkZ ,tsalh* ds lanHkZ esa fuEufyf[kr 

dFkuksa ij fopkj dhft;s%

	 1.	 ;g fo'o dk nwljk lcls cM+k ijek.kq lg;ksx 
dsanz gSA 

	 2.	 o"kZ 1957 esa LFkkfir ;g ,tsalh fo'o Hkj esa 
ijek.kq ÅtkZ ds 'kkafriw.kZ mi;ksx esa oSKkfud ,oa 
rduhdh lg;ksx gsrq ,d varj&ljdkjh eap ds 
:i esa dk;Z djrh gSA 

	 3.	 bldk eq[;ky; vkWfLVª;k ds fo;uk esa gSA 

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh ugha gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 1 vkSj 2

	 (c)	 dsoy 3 	 (d)	 1, 2 vkSj 3
	18.	^11ok¡ fczDl f'k[kj lEesyu* ds lanHkZ esa fuEufyf[kr 

dFkuksa ij fopkj dhft;s%

	 1.	 13–14 uoacj] 2019 dks czk”khy dh jkt/kuh 
czklhfy;k esa 11ok¡ fczDl f'k[kj lEesyu vk;ksftr 
fd;k x;kA 

	 2.	 bl o"kZ fczDl lEesyu dk fo"k; ̂ vfHkuo Hkfo"; 
ds fy;s vkfFkZd o`f¼* FkkA 

	 3.	 bl f'k[kj lEesyu esa fczDl ns'kksa }kjk 73 lw=kh; 
czklhfy;k ?kks"k.kk dks viuk;k x;kA 

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 vkSj 2	 (b)	 dsoy 3

	 (c)	 dsoy 2 vkSj 3 	 (d)	 1, 2 vkSj 3
	19.	^16osa Hkkjr&vkfl;ku f'k[kj lEesyu* ds lanHkZ esa 

fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 bl lEesyu es a vkfl;ku vkSj Hkkjr ds 
Hkkjr&iz'kkar {ks=k ij n`f"Vdks.kksa ds chp vfHklj.k 
dk mYys[k fd;k x;kA 

	 2.	 f'k[kj lEesyu esa j.kuhfrd lk>snkjh ds lHkh 
vk;keksa dks lqǹ<+ djus rFkk orZeku Hkkjr&vkfl;ku 
dkjZokbZ ;kstuk (2016-2020) ds dk;kZUo;u ds 
ckn vxys o"kZ ds fy;s ubZ dk;Z ;kstuk rS;kj 
djus ij ppkZ dh xbZA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa 	 (d)	 u rks 1] u gh 2

	 3.	 This code system harmonizes the business 
processes and customs duties of the products 
and reduces the costs in international trade.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 only	 (b)	 1 and 2 only
	 (c)	 2 and 3 only	 (d)	 1, 2 and 3

	 17. 	Consider the following statements in the context 
of 'International Atomic Energy Agency':

	 1.	 It is the second largest nuclear cooperation 
center in the world.

	 2.	 The agency, which was established in the 
year 1957, acts as an inter-governmental 
platform for scientific and technical 
cooperation in the peaceful use of nuclear 
energy worldwide.

	 3.	 It's headquarter is in Vienna, Austria.

		  Which of the statement(s) given above is/are not 
correct?

	 (a)	 1 only	 (b)	 1 and 2 only
	 (c)	 3 only	 (d)	 1, 2 and 3

	 18. 	Consider the following statements in the context 
of '11th BRICS Summit':

	 1.	 The 11th BRICS summit was held in 
Brasilia, the capital of Brazil, during 13–14 
November, 2019.

	 2.	 This year the theme of the BRICS 
conference was 'Economic Growth for an 
Innovative Future'.

	 3.	 The 73-points Brasilia declaration was 
adopted by BRICS countries at this summit.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 and 2 only	 (b)	 3 only
	 (c)	 2 and 3 only	 (d)	 1, 2 and 3

	 19. 	Consider the following statements in the context 
of '16th India-ASEAN Summit':

	 1.	 This conference highlighted the convergence 
between perspectives on ASEAN and the 
Indo-Pacific region of India.

	 2.	 The summit discussed to strengthen all the 
aspects of the strategic partnership and to 
prepare a new action plan for the next year 
after the implementation of the current 
India-ASEAN Action Plan (2016-2020).

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 only	 (b)	 2 only

	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2
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	20.	^14ok¡ iwohZ ,f'k;k f'k[kj lEesyu (bZ-,-,l-)* ds lanHkZ 
esa fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 14osa iwohZ ,f'k;k f'k[kj lEesyu dk vk;kstu 
FkkbZySaM esa fd;k x;kA 

	 2.	 ;g ,d vkfl;ku dsafnzr eap gS] ftldh vè;{krk 
dsoy vkfl;ku lnL; gh dj ldrs gSaA 

	 3.	 Hkkjr bl laxBu dk laLFkkid lnL; gSA 

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2
	 (c)	 dsoy 3 	 (d)	 1, 2 vkSj 3
	21.	fuEufyf[kr ;qXeksa ij fopkj dhft;s%
	 	 izeq[k lSU; vH;kl 		 'kkfey ns'k

	 1.	 'kfDr	 &		Hkkjr&Úk¡l

	 2.	 leqnz 'kfDr	 &		Hkkjr&baMksusf'k;k

	 3.	 MLVfyd vH;kl	 &		Hkkjr&m”csfdLrku

	 4.	 Vkbxj Vªk;EiQ	 &	Hkkjr&la;qDr jkT; vesfjdk

	 	mi;qZDr ;qXeksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2, 3 vkSj 4
	 (c)	 dsoy 1 vkSj 3 	 (d)	 1, 2, 3 vkSj 4
	22.	o"kZ 2019 ds O;kl lEeku ds fy;s fgUnh ds fdl 

mRÑ"V lkfgR;dkj dks pquk x;k gS\

	 (a)	 ukfljk 'kekZ
	 (b)	 fp=kk eqn~xy
	 (c)	 vuqt yqxqu

 	 (d)	 mi;qZDr esa ls dksbZ ugha
	23.	^vPpudksfoy unh* ds lanHkZ esa fuEufyf[kr dFkuksa ij 

fopkj dhft;s%
	 1.	 bl unh dk mn~Hko rfeyukMq esa if'peh ?kkV 

ds o:'kukM igkM+h  Ük`a[kyk ds iwohZ <ykuksa ls 
gksrk gSA 

	 2.	 1848 oxZ fdeh- {ks=kiQy esa foLr`r bl unh dk 
csflu iw.kZr;k dsjy jkT; esa fLFkr gSA 

	 3.	 ;g unh vjc dh [kkM+h esa fxjrh gSA 

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh ugha gS@gSa\

	 (a)	 dsoy 2	 (b)	 dsoy 1 vkSj 3
	 (c)	 dsoy 1 vkSj 2 	 (d)	 1, 2 vkSj 3
	24.	gky esa ^,fo;u ckWVqfy”e* lekpkjksa esa jgkA ;g gS&

	 (a)	 vaVkdZfVdk esa ikbZ xbZ i{kh dh ,d ubZ iztkfrA

	 (b)	 ,d izdkj dh chekjh ftlds dkj.k jktLFkku ds 
lkaHkj >hy eas g”kkjksa if{k;ksa dh ekSr gks xbZA

	 (c)	 uklk }kjk [kkstk x;k ,d u;k i`Foh ln`'k mixgA

	 (d)	 dSalj izfrjks/h ,d u;k oSDlhu tks gky gh esa 
Hkkjr ds oSKkfudksa }kjk fodflr fd;k x;kA 

	 20.	  Consider the following statements in the context 
of  '14th East Asia Summit (EAS)':

	 1.	 The 14th East Asia Summit was held in 
Thailand.

	 2.	 It is an ASEAN-centric forum, which can 
only be chaired by ASEAN members.

	 3.	 India is a founding member of this 
organization.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 only	 (b)	 2 only
	 (c)	 3 only	 (d)	 1, 2 and 3
	 21. 	Consider the following pairs:
	 	 Major military		  Countries
		  exercises		  participated
	 1.	 Shakti 			   - 	 India-France
	 2.	 Samudra Shakti 	 - 	 India-Indonesia
	 3.	 Dustlik exercise	 - 	 India-Uzbekistan
	 4.	 Tiger Triumph 	 - 	 India-United States 
						      of America
		  Which of the pair(s) given above is/are correct?
	 (a)	 1 only	 (b)	 2, 3 and 4 only
	 (c)	 1 and 3 only	 (d)	 1, 2, 3 and 4
	 22. 	Which of the following outstanding Hindi writer 

has been selected for Vyas Samman of 2019?
	 (a)	 Nasira Sharma	
	 (b)	 Chitra Mudgal
	 (c)	 Anuj Lugun	
	 (d)	 None of the above
	 23.	  Consider the following statements in the  context 

of 'Achankovil River':
	 1.	 This river originates from the eastern slopes 

of the Varushnad hill range of the Western 
Ghats in Tamil Nadu.

	 2.	 This river basin spread over an area of 1848 
sq. km. is completely located in the state of 
Kerala.

	 3.	 This river falls into the Gulf of Arabia.
		  Which of the statement(s) given above is/are not 

correct?
	 (a)	 2 only	 (b)	 1 and 3 only
	 (c)	 1 and 2 only	 (d)	 1, 2 and 3
	 24. 	The 'Avian botulism' was in the news recently. 

This is-
	 (a)	 A new species of bird found in Antarctica.
	 (b)	 A kind of disease, which caused thousands 

of birds have died in Sambhar Lake, 
Rajasthan.

	 (c)	 A new Earth-like satellite discovered by 
NASA.

	 (d)	 A new cancer resistant vaccine recently 
developed by scientists of India.
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	25.	^xqVfujis{k vkanksyu dk f'k[kj lEesyu (uSe)* ds lanHkZ 
esa fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 25-26 vDVwcj] 2019 dks v”kjcStku dh 
jktèkkuh ckdw esa xqVfujis{k vkanksyu ds 18osa 
f'k[kj lEesyu dk vk;kstu fd;k x;kA 

	 2.	 bl f'k[kj lEesyu esa Hkkjr dk izfrfuf/Ro 
mijk"Vªifr ,e-osadS;k uk;Mw us fd;kA 

	 3.	 ;g nwljh ckj gS tc Hkkjr ds iz/kuea=kh us uSe 
f'k[kj lEesyu esa Hkkx ugha fy;kA 

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 vkSj 2	 (b)	 dsoy 3
	 (c)	 dsoy 2 vkSj 3 	 (d)	 1, 2 vkSj 3
	26.	^Ý;wpj buosLVesaV bfuf'k,fVo* (,iQ-vkbZ-vkbZ-) ds 

lanHkZ esa fuEufyf[kr dFkuksa ij fopkj dhft;s%
	 1.	 ;g lÅnh vjc dk okf"kZd fuos'k eap gS] ftls 

^jsfxLrku esa nkoksl* ds uke ls tkuk tkrk gSA 

	 2.	 bldk vk;kstu lÅnh vjc ds ifCyd buosLVesaV 
iQaM }kjk fo”ku&2030 ds rgr fd;k tkrk gSA 

	 3.	 Hkkjrh; iz/kuea=kh us vDVwcj 2019 esa fj;kn esa 
vk;ksftr Ý;wpj buosLVesaV bfuf'k,fVo ds rhljs 
l=k eas Hkkx fy;kA 

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 3	 (b)	 dsoy 1 vkSj 2
	 (c)	 1] 2 vkSj 3 	 (d)	 dsoy 2 vkSj 3
	27.	varjkZ"Vªh; [kxksyh; la?k }kjk ckSus xzg ds fy;s fu/kZfjr 

ekunaM esa fuEufyf[kr esa ls dkSu&lk@ls 'kkfey gS@gSa\
	 1.	 ;g lw;Z ds pkjksa vksj ifjØek djrk gks 

	 2.	 ;g panzek u gks
	 3.	 ;g viuh d{kk ds pkjksa vksj ds {ks=k esa xq#Roh; 

izHkqRo LFkkfir djus esa l{ke gks

	 4.	 bldk nzO;eku de&ls&de bruk gks fd vius 
xq#Rokd"kZ.k ds dkj.k bldk vkdkj yxHkx xksy 
gks x;k gksA  

	 	uhps fn;s x, dwV dk iz;ksx dj lgh mÙkj pqfu;s%

	 (a)	 dsoy 1, 2 vkSj 4	 (b)	 dsoy 3
	 (c)	 dsoy 2 vkSj 3 	 (d)	 1, 2, 3 vkSj 4
	28.	fuEufyf[kr dFkuksa ij fopkj dhft;s%
	 1.	 Hkkjr us vY”kkbej jksx ds funku ds fy;s      

th-oh-&971 uked ,d nok fodflr djus esa 
egÙoiw.kZ liQyrk gkfly dh gSA

	 2.	 vY”kkbej jksx ,d U;wjksykWftdy fMlvkWMZj gS 
tks efLr"d dh raf=kdk dksf'kdkvksa dks u"V 
djrk gSA 

	 3.	 ;g jksx efLr"d esa ,d fo'ks"k izdkj dh VSaxYl 
uked izksVhu fuekZ.k ds dkj.k gksrk gSA

	 25. 	Consider the following statements in the context 
of 'The Summit of Non-Aligned Movement' 
(NAM):

	 1.	 The 18th Summit of the Non-Aligned 
Movement was held in Baku, the capital of 
Azerbaijan, on 25-26 October 2019.

	 2.	 India was represented by Vice President     
M. Venkaiah Naidu at this summit.

	 3.	 This is the second time, when the Prime 
Minister of India did not attend the NAM 
summit.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 and 2 only	 (b)	 3 only
	 (c)	 2 and 3 only	 (d)	 1, 2 and 3
	 26.	  Consider the following statements in the context 

of  'Future Investment Initiative' (FII):
	 1.	 It is an annual investment platform of Saudi 

Arabia, which is known as 'Davos in the 
desert'.

	 2.	 It is organized by the Public Investment 
Fund of Saudi Arabia under Vision-2030.

	 3.	 Indian Prime Minister participated in the 
third session of the Future Investment 
Initiative held in Riyadh in October 2019.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 3 only	 (b)	 1 and 2 only
	 (c)	 1, 2 and 3	 (d)	 2 and 3 only
	 27.	  Which of the following is/are included in the 

criteria set by the International Astronomical 
Union for a dwarf planet?

	 1.	 It revolves around the Sun.
	 2.	 It should not be the moon.
	 3.	 It should be capable of establishing 

gravitational dominance in the area around 
its orbit.

	 4.	 Its mass should be at least enough that its 
shape is almost round due to its gravity.

		  Select the correct answer using the code given 
below:

	 (a)	 1, 2 and 4 only	 (b)	 3 only
	 (c)	 2 and 3 only	 (d)	 1, 2, 3 and 4
	 28. 	Consider the following statements:
	 1.	 India has achieved significant success in 

developing a drug called GV-971 for the 
diagnosis of Alzheimer's disease.

	 2.	 Alzheimer's disease is a neurological 
disorder that destroys the nerve cells of the 
brain.

	 3.	 The disease is caused by a special type of 
protein formation in the brain called tangles.
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	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh ugha gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 1 vkSj 2 

	 (c)	 dsoy 2 vkSj 3 	 (d)	 1, 2 vkSj 3
	29.	^djrkjiqj xfy;kjk* ds lanHkZ esa fuEufyf[kr dFkuksa ij 

fopkj dhft;s%

	 1.	 Hkkjr vkSj ikfdLrku ds chp djrkjiqj lkfgc 

xfy;kjs dk 9 uoacj] 2019 dks vkSipkfjd :i 

ls mn~?kkVu dj fn;k x;kA 

	 2.	 ;g xfy;kjk Hkkjr esa iatkc ds xqjnkliqj f”kys 

ds Msjk ckck ukud lkfgc dks ikfdLrku ds 

ukjksoky f”kys esa vofLFkr djrkjiqj xq#}kjk njckj 

lkfgc ls tksM+rk gSA 

	 3.	 bl xfy;kjs ls rhFkZ ;k=kh fcuk oh”kk ds djrkjiqj 

dh ;k=kk dj ldsaxsA 

	 	mi;qZDr dFkuksa esa ls dkSUk&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 1 vkSj 2

	 (c)	 dsoy 2 vkSj 3 	 (d)	 1, 2 vkSj 3
	30.	^bZdks ,atk;Vh* ds lanHkZ esa fuEufyf[kr dFkuksa ij fopkj 

dhft;s%

	 1.	 ;g ,d ,slh euksn'kk gS ftlesa O;fDr bl ckr 

ls Hk;Hkhr jgrk gS fd vkus okys le; esa i;kZoj.k 

dk var gks tk,xkA 

	 2.	 bZdks ,atk;Vh ls izHkkfor O;fDr] tyok;q ifjorZu 

ds fu;a=k.k esa viuh O;fDrxr v{kerk dks ysdj 

'kfDrghu] vlgk; rFkk volknxzLr eglwl 

djrk gSA 

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2

	 (c)	 1 vkSj 2 nksuksa 	 (d)	 u rks 1] u gh 2

	31.	ekS;Z 'kkld ^v'kksd* ds lanHkZ esa fuEufyf[kr dFkuksa 

ij fopkj dhft;s%

	 1.	 v'kksd ds lHkh vfHkys[k izkÑr Hkk"kk vkSj czkãh 

fyfi esa gSa fdarq 'kkgck”kx<+h vkSj ekulsgjk dh 

fyfi [kjks"Bh gSA 

	 2.	 v'kksd ds iape f'kykys[k esa /Ee uhfr dh 

O;k[;k dh xbZ gSA 

	 3.	 dfyax ;q¼ dk o.kZu v'kksd ds rsjgosa f'kykys[k 

esa gSA 

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh ugha gS@gSa\

	 (a)	 dsoy 2	 (b)	 dsoy 2 vkSj 3

	 (c)	 dsoy 3 	 (d)	 1, 2 vkSj 3

		  Which of the statement(s) given above is/are not 
correct?

	 (a)	 1 only	 (b)	 1 and 2 only
	 (c)	 2 and 3 only	 (d)	 1, 2 and 3

	 29. 	Consider the following statements in the context 
of 'Kartarpur Corridor':

	 1.	 The Kartarpur Sahib Corridor between India 
and Pakistan was formally inaugurated on 
9th November 2019.

	 2.	 This corridor connects Dera Baba Nanak 
Sahib of Gurdaspur district of Punjab in 
India to Kartarpur Gurdwara Darbar Sahib 
located in Narowal district of Pakistan.

	 3.	 The pilgrims will be able to travel to 
Kartarpur without a visa through this 
corridor.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 only	 (b)	 1 and 2 only
	 (c)	 2 and 3 only	 (d)	 1, 2 and 3

	 30.	  Consider the following statements in the context 
of 'Eco-anxiety':

	 1.	 It is a state of mind, in which the person is 
afraid that the environment will end in the 
future.

	 2.	 A person affected by eco-anxiety feels 
powerless, helpless and depressed about his 
personal inability to control climate change.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2

	 31.	  Consider the following statements in the context 
of  Mauryan ruler 'Ashoka':

	 1.	 All the inscriptions of Ashoka are written 
in Prakrit language and Brahmi script, but 
the script of Shahbazgarhi and Mansehra is 
Kharoshthi.

	 2.	 The fifth inscription of Ashoka explains the 
Dhamma policy.

	 3.	 The Kalinga war is described in the 
thirteenth inscription of Ashoka.

		  Which of the statement(s) given above is/are not 
correct?

	 (a)	 2 only	 (b)	 2 and 3 only
	 (c)	 3 only	 (d)	 1, 2 and 3
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	32.	fuEufyf[kr esa ls dkSu&lk@ls oa'k fot;uxj lkezkT; 
ls lacaf/r gS@gSa\

	 1.	 laxe oa'k	 2.	 lkyqo oa'k

	 3.	 rqyqo oa'k 
	 	uhps fn;s x, dwV dk iz;ksx dj lgh mÙkj pqfu;s%

	 (a)	 dsoy 1	 (b)	 dsoy 1 vkSj 2

	 (c)	 dsoy 2 vkSj 3 	 (d)	 1, 2 vkSj 3
	33.	fuEufyf[kr ;qXeksa esa ls dkSu&lk lgh lqesfyr ugha gS\

		  vfHkys[k 		  'kkld

	 (a)	 gkFkhxqaiQk vfHkys[k 	 &	 [kkjosy

	 (b)	 fxjukj vfHkys[k	 &	 #nznkeu

	 (c)	 eanlkSj vfHkys[k	 &	 LdanxqIr

 	 (d)	 ,sgksy vfHkys[k	 &	 iqydsf'ku f}rh;
	34.	^ckS¼ /eZ* ds lanHkZ esa fuEufyf[kr dFkuksa eas ls dkSu&lk@

ls lgh gS@gSa\

	 1.	 ckS¼Z /eZ bZ'oj vkSj vkRek esa fo'okl ugha djrk 
gS ysfdu iqtZUe esa fo'okl djrk gSA 

	 2.	 cq¼?kks"k }kjk jfpr ^folq¼eXx* ghu;ku 'kk[kk 
dk xzaFk gSA 

	 3.	 ckS¼ fuokZ.k blh thou esa laHko ekurs gSa] tcfd 
tSu 'kjhj ls eqfDr ds i'pkr~ bls laHko ekurs gSaA 

	 	dwV%

	 (a)	 1] 2 vkSj 3	 (b)	 dsoy 1 vkSj 2

	 (c)	 dsoy 2 vkSj 3 	 (d)	 dsoy 3
	35.	^1773 ds jsX;qysfVax ,DV* ds lanHkZ esa fuEufyf[kr 

dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 1.	 igyh ckj fczfV'k eaf=keaMy dks Hkkjrh; ekeyksa 
esa fu;a=k.k dk vf/dkj fn;k x;kA 

	 2.	 enzkl ,oa cacbZ izslhMsafl;ksa dks dydÙkk izslhMsalh 
ds v/hu dj fn;k x;kA 

	 3.	 dydÙkk esa lqizhe dksVZ dh LFkkiuk dh xbZA

	 	dwV%

	 (a)	 dsoy 1	 (b)	 dsoy 1 vkSj 2

	 (c)	 dsoy 2 vkSj 3 	 (d)	 1, 2 vkSj 3
	36.	^dSfcusV fe'ku* ds lanHkZ eas fuEufyf[kr dFkuksa ij 

fopkj dhft;s%

	 1.	 dSfcusV fe'ku dk eq[; dk;Z lafo/ku fuekZ.k 
dh izfØ;k dks vkjaHk djuk FkkA 

	 2.	 dSfcusV fe'ku ds lnL;ksa esa lj LVSiQMZ fØIl] 
,-oh- vysDtsaMj rFkk iSfFkd ykWjsal FksA 

	 3.	 dSfcusV fe'ku us ikfdLrku dh ekax dks Lohdkj 
dj fy;k FkkA 

	 32. 	Which of the following dynasty is/are related to 
the Vijayanagara Empire?

	 1.	 Sangam Dynasty	 2.	 Saluva Dynasty
	 3.	 Tuluva Dynasty

		  Select the correct answer using the code given 
below:

	 (a)	 1 only	 (b)	 1 and 2 only
	 (c)	 2 and 3 only	 (d)	 1, 2 and 3

	 33. 	Which one of the following pairs is not correctly 
matched?

		  Inscription		   Ruler
	 (a) 	 Hathigumpha inscription - Kharavel
	 (b)	 Girnar inscription 		   - Rudradaman
	 (c)	 Mandsaur inscription 		   - Skandagupta
	 (d)	 Aihole Inscription 		   - Pulakeshin II

	 34. 	Which of the following statement(s) is/are correct 
in the context of 'Buddhism'?

	 1.	 Buddhism does not believe in God and Soul, 
but believes in Rebirth.

	 2.	 'Visuddhimagga' written by Buddhaghosha 
is the text of the Hinayana branch.

	 3.	 Buddhist considers Nirvana is possible in 
this Present life, whereas Jain believes it to 
be possible only after liberation of soul from 
the body.

		  Code:
	 (a)	 1, 2 and 3	 (b)	 1 and 2 only
	 (c)	 2 and 3 only	 (d)	 3 only

	 35. 	Which of the following statement(s) is/are correct 
in the context of 'Regulating Act of 1773'?

	 1.	 The British Cabinet was given the right to 
control over Indian affairs for the first time.

	 2.	 Madras and Bombay Presidencies were 
placed under the Calcutta Presidency.

	 3.	 Supreme Court was established in Calcutta.

		  Code:
	 (a)	 1 only	 (b)	 1 and 2 only
	 (c)	 2 and 3 only	 (d)	 1, 2 and 3

	 36.	  Consider the following statements in the context 
of 'Cabinet Mission':

	 1.	 The main function of the Cabinet Mission 
was to initiate the process of constitution 
making.

	 2.	 Sir Stafford Cripps, A.V. Alexander and 
Pathick Lawrence were the members of the 
Cabinet Mission.

	 3.	 The Cabinet Mission had accepted the 
demand of Pakistan.
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	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 vkSj 2	 (b)	 dsoy 3
	 (c)	 dsoy 2 vkSj 3 	 (d)	 1, 2 vkSj 3
	37.	^jkekslh fonzksg* Fkk&

	 (a)	 ejkBk lsuk esa dk;Zjr lSfudksa }kjk ejkBk jkT; ds 

iru ds i'pkr~ c<+s gq, Hkwfe dj ds fo#¼A

	 (b)	 egkjk"Vª esa fdlkuksa dk lkgwdkjksa ds fo#¼A 

	 (c)	 xqtjkr esa iQly [kjkc gks tkus ds ckotwn yxku 

olwyh ds fo#¼A

	 (d)	 eqaMk vkfnokfl;ksa dh ikjaifjd Hkwfe O;oLFkk esa 

ifjorZu ds fo#¼A

	38.	^egkRek xka/h* ds lanHkZ esa fuEufyf[kr dFkuksa ij fopkj 

dhft;s%

	 1.	 xka/h th us nf{k.k vÚhdk esa ^uVky bafM;u 

dkWUxzsl vkSj ^iQhfuDl vkJe* dh LFkkiuk dhA 

	 2.	 xka/h th us nf{k.k vÚhdk esa ̂ bafM;u vksihfu;u* 

uked ,d v[kckj fudkykA

	 3.	 Hkkjr esa 1916 bZ- esa fNM+s gkse:y vkanksyu dks 

xka/h th dk izR;{k leFkZu izkIr FkkA 

	 	mi;qZDr dFkuksa eas ls dkSu&lk@ls lgh ugha gS@gSa\

	 (a)	 dsoy 3	 (b)	 1] 2 vkSj 3

	 (c)	 dsoy 1 vkSj 2 	 (d)	 dsoy 2 vkSj 3

	39.	fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 gsujh fofo;u Msjksft;ks dks vk/qfud Hkkjr dk 

izFke jk"Vªoknh dfo dgk tkrk gSA 

	 2.	 egknso xksfoan jkukMs us 1891 esa ^foMks fjeSfjt 
,lksfl,'ku*  dh LFkkiuk dhA 

	 3.	 Lokeh foosdkuan us 1896 bZ- esa vesfjdk esa osnkar 

lkslk;Vh dh LFkkiuk dhA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 1 vkSj 2

	 (c)	 dsoy 2 vkSj 3 	 (d)	 1, 2 vkSj 3
	40.	^jSys deh'ku* ds lanHkZ esa fuEufyf[kr dFkuksa ij fopkj 

dhft;s%

	 1.	 bl deh'ku dh fu;qfDr ykWMZ bjfou ds dk;Zdky 

esa gqbZ FkhA 

	 2.	 bldh fu;qfDr fo'ofo|ky;h f'k{kk ds fodkl 

gsrq lq>ko izLrqr djus ds fy;s dh xbZ FkhA 

	 3.	 bl deh'ku dh fliQkfj'k dks è;ku esa j[kdj 

1935 bZ- esa dsanzh; f'k{kk lykgdkj cksMZ dh 

LFkkiuk dh xbZA 

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 and 2 only	 (b)	 3 only
	 (c)	 2 and 3 only	 (d)	 1, 2 and 3

	 37.	  The 'Ramosi Revolt' was-
	 (a)	 Against the increased land revenue by the 

soldiers working in the Maratha army after 
the fall of the Maratha Empire.

	 (b)	 Against the moneylenders of Maharashtra 
by the farmers.

	 (c)	 Against recovery of revenue despite crop 
failure in Gujarat.

	 (d)	 Against the changes in traditional land 
system of Munda tribals.

	 38. 	Consider the following statements in the context 
of 'Mahatma Gandhi':

	 1.	 Gandhiji established the Natal Indian 
Congress and the Phoenix Ashram in South 
Africa.

	 2.	 Gandhiji published a newspaper called 
'Indian Opinion' in South Africa.

	 3.	 The Homerule Movement, which broke out 
in India in 1916, had the direct support of 
Gandhiji.

		  Which of the statement(s) given above is/are not 
correct?

	 (a)	 3 only	 (b)	 1, 2 and 3
	 (c)	 1 and 2 only	 (d)	 2 and 3 only

	 39. 	Consider the following statements:
	 1.	 Henry Vivian Derozio is called the first 

nationalist poet of modern India.
	 2.	 Mahadev Govind Ranade founded the 

'Widow Remarriage Association' in 1891.
	 3.	 Swami Vivekananda founded the Vedanta 

Society in America in 1896 AD.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 only	 (b)	 1 and 2 only
	 (c)	 2 and 3 only	 (d)	 1, 2 and 3

	 40.	  Consider the following statements in the context 
of 'Raleigh Commission':

	 1.	 This commission was appointed during the 
tenure of Lord Irwin.

	 2.	 It was appointed to submit suggestions for 
the development of university education.

	 3.	 The Central Education Advisory Board 
was established in 1935 AD in view of the 
recommendation of this commission.
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	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 2	 (b)	 dsoy 1 vkSj 2
	 (c)	 dsoy 2 vkSj 3 	 (d)	 1, 2 vkSj 3
	41.	fuEufyf[kr ;qXeksa ij fopkj dhft;s%
	 	 i=k&if=kdk,¡		 laiknd@ys[kd

	 1.	 gkse ,aM n oYMZ 	 &	johanzukFk VSxksj

	 2.	 fXyEilst vkWiQ n 	 &	tokgjyky usg:

	 	 oYMZ fgLVªh 	

	 3.	 fgaV~l iQkWj lsYiQ 	 & 	ykyk gjn;ky

	 	 dYpj

	 4.	 OgkbZ lks'kfy”e	 &	t;izdk'k ukjk;.k

	 	mi;qZDr ;qXeksa esa ls dkSu&lk@ls lgh lqesfyr gS@gSa\

	 (a)	 dsoy 1 vkSj 2	 (b)	 dsoy 2 vkSj 4
	 (c)	 dsoy 4 	 (d)	 1, 2, 3 vkSj 4
	42.	^f'kokth* ds lanHkZ esa fuEufyf[kr dFkuksa ij fopkj 

dhft;s%
	 1.	 f'kokth ds ikl ,d ukSlsuk Fkh ftldk eq[;ky; 

dksykck esa FkkA 

	 2.	 f'kokth us ^gSano /eksZ¼kjd* rFkk ^{kf=k; 
dqykoral* dh mikf/ yhA 

	 3.	 f'kokth ds v"Viz/ku esa ^okd;kuohl* njckjh 
dk;ks± dk fjdkWMZ j[krk FkkA 

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 vkSj 2	 (b)	 1] 2 vkSj 3

	 (c)	 dsoy 3 	 (d)	 dsoy 2
	43.	^xqIr dky* ds lanHkZ esa fuEufyf[kr dFkuksa ij fopkj 

dhft;s%
	 1.	 xqIr 'kkld oS".ko /eZ ds vuq;k;h Fks rFkk mudh 

mikf/ ^ije Hkkxor~* FkhA 

	 2.	 xqIr 'kkldksa us lokZf/d Lo.kZ eqnzk,¡ tkjh dha 
ftUgsa muds vfHkys[kksa esa ^nhukj* dgk x;k gSA 

	 3.	 phuh ;k=kh àsulkax xqIr 'kkld panzxqIr&II ds 
le; Hkkjr vk;kA 

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 vkSj 2	 (b)	 dsoy 3
	 (c)	 dsoy 2 vkSj 3 	 (d)	 1, 2 vkSj 3
	44.	^gM+Iik lH;rk* ds lanHkZ esa fuEufyf[kr dFkuksa ij 

fopkj dhft;s%
	 1.	 bl lH;rk esa eqgjsa izpfyr Fkha] fdarq budk 

mi;ksx fofue; ds fy;s ugha gksrk FkkA 

	 2.	 pUgwnM+ks ,dek=k ,slk LFky gS tks fd nqxhZÑr 
ugha FkkA 

	 3.	 lokZf/d gM+IikbZ LFky gfj;k.kk ls izkIr gq, gSaA 

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 2 only	 (b)	 1 and 2 only
	 (c)	 2 and 3 only	 (d)	 1, 2 and 3

	 41. 	Consider the following pairs:
		  Newspaper- Journals 	  Editor/Writer
	 1.	 Home and the World 		  - Rabindranath
				     Tagore
	 2.	 Glimpses of the 		  - Jawaharlal Nehru
		  World History
	 3.	 Hints for Self Culture 		 - Lala Hardayal
	 4.	 Why Socialism 		  - Jayprakash
				     Narayan

		  Which of the above pair(s) is/are correctly matched?
	 (a)	 1 and 2 only	 (b)	 2 and 4 only
	 (c)	 4 only	 (d)	 1, 2, 3 and 4

	 42. 	Consider the following statements in the context 
of 'Shivaji':

	 1.	 Shivaji had a navy with its headquarters at 
Colaba.

	 2.	 Shivaji took the title of ‘Haindav 
Dharmoddharak and kshatriya kulavatans’.

	 3.	 The 'Vakyanavis' kept records of court work 
in Shivaji's Ashtapradhan.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 and 2 only	 (b)	 1, 2 and 3
	 (c)	 3 only	 (d)	 2 only

	 43. 	Consider the following statements in the context 
of 'Gupta period':

	 1.	 Gupta rulers were followers of Vaishnavism 
and their title was 'Param Bhagavat'.

	 2.	 The Gupta rulers issued the most gold 
currencies, which are called 'dinars' in their 
inscriptions.

	 3.	 Chinese traveller Hiuen tsang came to India 
during the Gupta ruler Chandragupta II.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 and 2 only	 (b)	 3 only
	 (c)	 2 and 3 only	 (d)	 1, 2 and 3

	 44. 	Consider the following statements in the context 
of 'Harappan Civilization':

	 1.	 Seals were prevalent in this civilization, but 
they were not used for exchange.

	 2.	 Chanhudaro is the only place, which was 
not fortified.

	 3.	 Most of the Harappan sites have been 
discovered from Haryana.
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	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh ugha gS@gSa\

	 (a)	 dsoy 3	 (b)	 dsoy 1 vkSj 2
	 (c)	 dsoy 2 vkSj 3 	 (d)	 1, 2 vkSj 3
	45.	^yhoj VªkalIykaV jftLVªh* ds lanHkZ esa fuEufyf[kr dFkuksa 

ij fopkj dhft;s%
	 1.	 yhoj VªkalIykaV lkslk;Vh vkWiQ bafM;k }kjk Hkkjr 

dh igyh LoSfPNd yhoj VªkalIykaV jftLVªh dh 
'kq#vkr dh xbZ gSA 

	 2.	 bl jftLVªh dk mn~ns'; yhoj VªkalIykaV dh 
izfØ;kvksa vkSj muds ifj.kkeksa ds jk"Vªh; MsVk dks 
,d=k djuk gSA 

	 3.	 ;g jftLVªh iw.kZr% jk"Vªh; ifj.kkeksa ij dsafnzr 
fo'o dh lcls cM+h jftLVªh gSA 

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 1 vkSj 2
	 (c)	 dsoy 2 vkSj 3 	 (d)	 1, 2 vkSj 3
	46.	Hkkjr dk ^nq/ok us'kuy ikdZ* fuEufyf[kr esa ls fdl 

ns'k dh lhek ds djhc gS\

	 (a)	 usiky	 (b)	 HkwVku
	 (c)	 ckaXykns'k 	 (d)	 phu
	47.	^gksjh gCck* ds lanHkZ eas fuEufyf[kr dFkuksa ij fopkj 

dhft;s%
	 1.	 gksjh gCck dukZVd esa cSy idM+us dh ,d 

izfr;ksfxrk gSA 

	 2.	 bldk vk;kstu iQly cqokbZ ds ekSle esa ;k 
nhikoyh ioZ ds vkl&ikl fd;k tkrk gSA 

	 3.	 ;g izfr;ksfxrk ^tYyhdV~Vw* ,oa ^oaQckyk* dh 
rjg gh vk;ksftr dh tkrh gSA 

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 1 vkSj 2
	 (c)	 dsoy 2 vkSj 3 	 (d)	 1, 2 vkSj 3
	48.	gky gh esa dsanzh; LVhy ea=kky; us ̂ LVhy LØSi iqupZØ.k 

uhfr* tkjh dh gSA bl uhfr ds y{;ksa esa 'kkfey gS@gSa&
	 1.	 LVhy {ks=k esa iqupZØ.k vk/kfjr vFkZO;oLFkk dks 

c<+kok nsukA

	 2.	 xq.koÙkk okys LVhy mRiknu ds fy;s mPp xq.koÙkk 
okys ,sls ykSg LØSi dk mRiknu djuk] ftlls 
vk;kr ij fuHkZjrk de gks ldsA

	 3.	 [krjukd vkSj vU; vif'k"V (izca/u vkSj lhek 
ikj lapyu) fu;e] 2016 ds vuq:i LVhy ds 
iqupZØ.k ls fudyus okys vif'k"V inkFkks± ds 
fuLrkj.k ds fy;s ,d l{ke ra=k fodflr djukA 

	 	uhps fn;s x, dwV dk iz;ksx dj lgh mÙkj pqfu;s%

	 (a)	 dsoy 1	 (b)	 dsoy 1 vkSj 2
	 (c)	 dsoy 2 vkSj 3 	 (d)	 1, 2 vkSj 3

		  Which of the statement(s) given above is/are not 
correct?

	 (a)	 3 only	 (b)	 1 and 2 only
	 (c)	 2 and 3 only	 (d)	 1, 2 and 3
	 45. 	Consider the following statements in the context 

of 'liver transplant registry':
	 1.	 The first voluntary liver transplant registry 

of India has been started by the Liver 
Transplant Society of India.

	 2.	 The objective of this registry is to collect 
national data of liver transplant procedures 
and their results.

	 3.	 This registry is the world's largest registry 
focused solely on national outcomes.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 only	 (b)	 1 and 2 only
	 (c)	 2 and 3 only	 (d)	 1, 2 and 3
	 46. 	The 'Dudhwa National Park' of India is close to 

the border of which of the following country?
	 (a)	 Nepal	 (b)	 Bhutan
	 (c)	 Bangladesh	 (d)	 China
	 47. 	Consider the following statements in the context 

of 'Hori Habba':
	 1.	 Hori Habba is a bull catching competition in 

Karnataka.
	 2.	 It is organized during the crop sowing 

season or around Diwali Festival.
	 3.	 This competition is organized in the same 

way as 'Jallikattu' and 'Kambala'.
		  Which of the statement(s) given above is/are 

correct?
	 (a)	 1 only	 (b)	 1 and 2 only
	 (c)	 2 and 3 only	 (d)	 1, 2 and 3
	 48. 	The Union Steel Ministry has issued 'Steel Scrap 

Recycling Policy' recently. The goals of this policy 
include(s)-

	 1.	 To promote a recycling based economy in 
the steel sector.

	 2.	 To produce high quality iron scrap for 
quality steel production, thereby reducing 
dependence on imports.

	 3.	 To develop an efficient mechanism for 
disposal of waste materials from the 
recycling of steel as per Hazardous and Other 
Wastes (Management and Transboundary 
Movement) Rules, 2016.

		  Select the correct answer using the code given 
below:

	 (a)	 1 only	 (b)	 1 and 2 only
	 (c)	 2 and 3 only	 (d)	 1, 2 and 3
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	49.	^'ka?kkbZ lg;ksx laxBu dh cSBd* ds lanHkZ esa fuEufyf[kr 
dFkuksa ij fopkj dhft;s%

	 1.	 1&2 uoacj] 2019 dks m”csfdLrku dh jktèkkuh 
rk'kdan esa 'ka?kkbZ lg;ksx laxBu (,l-lh-vks-) 
ds 'kklukè;{kksa dh ifj"kn dh 18oha cSBd dk 
vk;kstu fd;k x;kA

	 2-	 o"kZ 2017 esa Hkkjr }kjk 'ka?kkbZ lg;ksx laxBu 
dk lnL; cuus ds ckn ;g 'kklukè;{kksa ds 
ifj"kn dh igyh cSBd FkhA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa 	 (d)	 u rks 1] u gh 2
	50.	;wfuolZy iksLVy ;wfu;u (;w-ih-;w-) ds lanHkZ esa 

fuEufy[kr dFkuksa ij fopkj dhft;s%
	 1.	 ;g varjkZ"Vªh; Mkdksa ds vknku&iznku ds fofu;eu 

vkSj varjkZ"Vªh; Mkd lsokvksa dh njksa dks r; 
djrk gSA

	 2-	 o"kZ 1874 esa LFkkfir ;w-ih-;w- dk eq[;ky; 
fLoVtjySaM ds cuZ esa fLFkr gS rFkk orZeku esa 
blds lnL; ns'kksa dh la[;k 192 gSA

	 3-	 gky gh esa ikfdLrku us ;wih;w ds fu;eksa ds 
foijhr tkdj Hkkjr dks lwfpr fd;s fcuk nksuksa 
ns'kksa ds chp Mkd lsok dks can dj fn;kA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 vkSj 2	 (b)	 dsoy 2 vkSj 3
	 (c)	 1, 2 vkSj 3 	 (d)	 dsoy 3
	51.	vDVwcj 2019 esa gq, Hkkjrh; jk"Vªifr dh tkiku ;k=kk 

ds lanHkZ esa fuEufyf[kr dFkuksa ij fopkj dhft;s%
	 1.	 jk"Vªifr jkeukFk dksfoan us lezkV uk:fgrks ds 

jkT;kfHk"ksd lekjksg esa Hkkx fy;kA

	 2-	 jk"Vªifr us f'karks esbth uked rhFkZLFky dk Hkh 
nkSjk fd;k rFkk xksVsack ihl iSxksMk laxBu ds 
izfrfuf/eaMy ds lkFk ckrphr dhA

	 3-	 xksVsack ihl iSxksMk laxBu us xka/h 'krkCnh o"kZ 
(1969) esa jktxhj esa fo'o 'kkafr Lrwi dk fuekZ.k 
fd;k FkkA	

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 1 vkSj 2
	 (c)	 dsoy 2 vkSj 3 	 (d)	 1, 2 vkSj 3
	52.	^catj Hkwfe ,Vyl&2019* ds lanHkZ esa fuEufyf[kr 

dFkuksa ij fopkj dhft;s%
	 1.	 ^catj Hkwfe ,Vyl&2019* dk ik¡pok¡ laLdj.k 

xzkeh.k fodkl ea=kky; ds }kjk tkjh fd;k 
x;k gSA

	 49. 	Consider the following statements in the context 
of 'Shanghai Cooperation Organization meeting':

	 1.	 The 18th meeting of the Council of Heads 
of Government of Shanghai Cooperation 
Organization (SCO) was held in Tashkent, 
capital of Uzbekistan, on 1-2 November 
2019.

	 2.	 This was the first meeting of the Council of 
Heads of Government after India became a 
member of SCO in 2017.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2
	 50. 	Consider the following statements in the context 

of Universal Postal Union (UPU):
	 1.	 It regulates the exchange of international 

posts and sets the rates of international 
postal services.

	 2.	 UPU, established in the year 1874, is 
headquartered in Bern, Switzerland and 
currently it has 192 member countries.

	 3.	 Recently Pakistan went contrary to the 
rules of UPU and shut down the postal 
service between the two countries without 
informing India.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 and 2 only	 (b)	 2 and 3 only
	 (c)	 1, 2 and 3	 (d)	 3 only
	 51.	 Consider the following statements in the context 

of the visit of the Indian President to Japan in 
October 2019:

	 1.	 President Ram Nath Kovind attended 
the coronation ceremony of the Emperor 
Naruhito.

	 2.	 The President also visited a shrine named 
Shinto Meiji and interacted with the 
delegation of the Gotemba Peace Pagoda 
Organization.

	 3.	 The Gotemba Peace Pagoda Organization 
had constructed the World Peace Stupa at 
Rajgir in the Gandhi Centenary Year (1969).

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 only	 (b)	 1 and 2 only
	 (c)	 2 and 3 only	 (d)	 1, 2 and 3
	 52.	 Consider the following statements in the context 

of 'Wasteland Atlas-2019':
	 1.	 The fifth edition of 'Wasteland Atlas-2019' 

has been released by the Ministry of Rural 
Development.
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	 2-	 bls Hkwfe lalk/u foHkkx }kjk jk"Vªh; lqnwj laosnu 
dsanz ds lg;ksx ls Hkkjrh; nwjlaosnh mixzg ds 
vk¡dM+ksa dk iz;ksx djrs gq	, rS;kj fd;k x;k gSA

	 3-	 catj Hkwfe dk lokZf/d :ikarj.k jktLFkku esa 
ntZ fd;k x;k gS tgk¡ 4,803 oxZ fdeh- catj 
Hkwfe dks mRiknd Hkwfe esa ifjofrZr fd;k x;kA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 2	 (b)	 dsoy 3
	 (c)	 1, 2 vkSj 3 	 (d)	 dsoy 1 vkSj 2
	53.	gky gh esa jk"Vªh; i;kZoj.k vfHk;kaf=kdh vuqla/ku laLFkku 

(,u-bZ-bZ-vkj-vkbZ-) us ok;q xq.koÙkk ij 'kks/ ladyu 
ds fy;s ns'k dh igyh laoknkRed vkWuykbu fjiksftVjh 
^baM,;j* dh LFkkiuk dh gSA bl lanHkZ esa fuEufyf[kr 
dFkuksa ij fopkj dhft;s%

	 1.	 ^baM,;j* dh LFkkiuk dk mn~ns'; ok;q xq.koÙkk 
vuqla/ku dh tkudkjh dks lHkh ds fy;s miyC/ 
djkuk gSA

	 2-	 ;g Hkkjr esa ok;q iznw"k.k ds {ks=k esa iwoZ esa fd;s 
x, vuqla/kuksa ,oa fo'ys"k.kksa dks ,df=kr djus 
dk igyk O;kid iz;kl gksxkA

	 3-	 ^baM,;j* }kjk jk"Vªh; jkt/kuh {ks=k esa nhikoyh 
ds ckn vpkud c<+s ok;q iznw"k.k tSlh xaHkhj 
ifjfLFkfr;ksa ds lek/ku esa lgk;rk feysxhA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 1 vkSj 2
	 (c)	 dsoy 2 vkSj 3 	 (d)	 1, 2 vkSj 3
	54.	^isfjl le>kSrk* ds lanHkZ esa fuEufyf[kr dFkuksa ij 

fopkj dhft;s%
	 1.	 uoacj 2016 esa laiUu isfjl le>kSrk ,d 

,sfrgkfld varjkZ"Vªh; i;kZoj.k le>kSrk gS ftlus 
nqfu;k ds yxHkx 200 ns'kksa dks xzhugkml xSlksa 
ds mRltZu esa deh djus ds fy;s ,dtqV fd;kA

	 2-	 4 uoacj] 2019 dks vesfjdk us la;qDr jk"Vª dks 
lwfpr djrs gq, Lo;a dks isfjl le>kSrs ls vyx 
djus dh izfØ;k izkjaHk dj nhA

	 3-	 isfjl le>kSrs dk vuqPNsn&35 fdlh Hkh 
gLrk{kjdÙkkZ ns'k ds blls vyx gksus ds izkoèkkuksa 
dk o.kZu djrk gSA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh ugha gS@gSa\

	 (a)	 dsoy 3	 (b)	 dsoy 1 vkSj 2
	 (c)	 dsoy 2 vkSj 3 	 (d)	 1, 2 vkSj 3
	55.	^DokaVe lqizheslh* ds lanHkZ esa fuEufyf[kr dFkuksa ij 

fopkj dhft;s%
	 1.	 bl 'kCn dk loZizFke iz;ksx dSfyiQksfuZ;k baLVhV~;wV 

vkWiQ VsDuksykWth ds izksiQslj tkWu izsfLdy }kjk 
o"kZ 2012 esa fd;k x;k FkkA

	 2.	 It has been prepared by the Department 
of Land Resources in collaboration with 
the National Remote Sensing Centre by 
using data from the Indian remote sensing 
satellite.

	 3.	 Maximum conversion of wasteland has 
been recorded in Rajasthan where 4,803 sq 
km of wasteland has been converted into 
productive land.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 2 only	 (b)	 3 only
	 (c)	 1, 2 and 3	 (d)	 1 and 2 only
	 53.	 Recently the National Environmental Engineering 

Research Institute (NEERI) has set up the country's 
first interactive online repository 'IndAIR' to 
compile research on air quality. Consider the 
following statements in this context:

	 1.	 The purpose of the establishment of 
'IndAIR' is to make the information of air 
quality research available to all.

	 2.	 This will be the first comprehensive effort to 
collect research and analysis done earlier in 
the field of air pollution in India.

	 3.	 'IndAIR' will help in resolving serious 
situations like sudden increased air 
pollution in the National Capital Region 
after Dipawali.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 only	 (b)	 1 and 2 only
	 (c)	 2 and 3 only	 (d)	 1, 2 and 3
	 54.	 Consider the following statements in the context 

of 'Paris Agreement':
	 1.	 The Paris Agreement, concluded in 

November 2016, is a historic international 
environmental agreement that united 
around 200 countries in the world to reduce 
greenhouse gas emissions.

	 2.	 The US started the process of withdrawing 
itself from the Paris Agreement, informing 
the United Nations on November 4, 2019.

	 3.	 Article-35 of the Paris Agreement describes 
the provisions of withdrawal from this by 
any signatory country.

		  Which of the statement(s) given above is/are  not 
correct?

	 (a) 	3 only	 (b)	 1 and 2 only
	 (c)	 2 and 3 only	 (d)	 1, 2 and 3
	 55.	 Consider the following statements in the context 

of 'Quantum Supremacy':
	 1.	 The term was first used by Professor 

John Preskill of California Institute of 
Technology in the year 2012.
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	 2-	 gky gh esa xwxy us ?kks"k.kk dh gS fd mlus    
lax.kuk ds {ks=k esa ,d egÙoiw.kZ miyfC/ gkfly 
dh gS ftls DokaVe lqizheslh dgk tk jgk gSA

	 3-	 xwxy us lkbdkseksj DokaVe izkslslj dh lgk;rk 
ls ,d x.kuk dks 200 lsosaQM esa gy dj fn;k 
ftls vk/qfud le; ds ,d lqij daI;wVj ls 
gy djus esa 10]000 o"kZ dk le; yxrkA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 vkSj 3	 (b)	 dsoy 2
	 (c)	 1] 2 vkSj 3 	 (d)	 dsoy 1
	56.	^,p-vkbZ-oh-* ds lanHkZ esa fuEufyf[kr dFkuksa ij fopkj 

dhft;s%
	 1.	 gky esa ,M~l dkjd ,pvkbZoh dk ,d mi&izdkj 

[kkstk x;k gS ftls HIV-1 xzqi M] mi izdkj 
L dgk tk jgk gSA

	 2-	 xzqi M ok;jl oSf'od egkekjh ds fy;s f”kEesnkj 
gS ftldh [kkst lcls igys mi&lgkjk vizQhdk 
ds dkaxks yksdrkaf=kd x.kjkT; esa dh xbZ FkhA

	 3-	 ,p-vkbZ-oh- ,d izdkj dk jsVªksok;jl gS] tks 
'kjhj dh izfrj{kk iz.kkyh esa CD4 uked 'osr 
jDr dksf'kdk ij geyk djrk gSA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 1] 2 vkSj 3	 (b)	 dsoy 1 vkSj 2

	 (c)	 dsoy 3 	 (d)	 dsoy 2
	57.	gky gh esa Lisl,Dl us Lisl baVjusV dh lqfo/k eqgS;k 

djkus ds mn~ns'; ls 60 lSVsykbV~l ds ,d lewg dks 
fuEu Hkw&d{kk esa LFkkfir fd;k gSA bl lanHkZ esa 
fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 Lisl,Dl dh bl egÙokdka{kh ifj;kstuk dk uke 
LVkjfyad usVodZ gSA

	 2-	 bl ifj;kstuk ds ekè;e ls Lisl,Dl o"kZ 2020 
rd mÙkjh la;qDr jkT; vesfjdk rFkk dukMk esa 
Lisl baVjusV dh lqfo/k izkjaHk dj nsxhA

	 3-	 o"kZ 2021 rd bldk y{; iwjh i`Foh ij de 
dher esa ukWu LVkWi Lisl baVjusV dh lqfo/k iznku 
djuk gSA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 1 vkSj 2

	 (c)	 dsoy 2 vkSj 3 	 (d)	 1] 2 vkSj 3
	58.	^oYMZ ,uthZ vkmVyqd* fuEufyf[kr esa ls fdl laLFkk 

}kjk tkjh fd;k tkrk gS\

	 (a)	 varjkZ"Vªh; ÅtkZ ,tsalh	
	 (b)	 ;wusLdks

	 (c)	 oYMZ cSad 	
	 (d)	 bafM;u us'kuy lkbal ,dsMeh

	 2.	 Recently Google has announced that it has 
achieved a significant achievement in the 
field of computation which is being called 
Quantum Supremacy.

	 3.	 Google solved a calculation in 200 seconds 
with the help of Sycamore quantum 
processor which would have taken 10,000 
years to solve with a supercomputer of 
modern times.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 and 3 only	 (b)	 2 only
	 (c)	 1, 2 and 3	 (d)	 1 only
	 56.	 Consider the following statements in the context 

of 'HIV':
	 1.	 Recently a subtype of AIDS factor of HIV 

has been discovered, which is being called 
HIV-1 group M, subtype L.

	 2.	 The Group M virus is responsible for the 
global epidemic that was first discovered in 
the Democratic Republic of Congo of Sub-
Saharan Africa.

	 3.	 HIV is a type of retrovirus that attacks a 
white blood cell called CD4 in the immune 
system of the body.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1, 2 and 3	 (b)	 1 and 2 only
	 (c)	 3 only	 (d)	 2 only
	 57.	 Recently, SpaceX has placed a group of 60 

satellites in lower geo-orbit with the aim of 
providing space internet facility. Consider the 
following statements in this context:

	 1.	 The name of this SpaceX ambitious project 
is Starlink Network.

	 2.	 The SpaceX will start providing space 
internet facilities in the northern United 
States and Canada by the year 2020 through 
this project.

	 3.	 Its goal is to provide non-stop space internet 
facility at low prices on the whole earth by 
the year 2021.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 only	 (b)	 1 and 2 only
	 (c)	 2 and 3 only	 (d)	 1, 2 and 3
	 58.	 'World Energy Outlook' is issued by which of the 

following organizations?
	 (a)	 International Energy Agency
	 (b)	 UNESCO
	 (c)	 World Bank
	 (d)	 Indian National Science Academy
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	 59.	^varjkZ"Vªh; ÅtkZ ,tsalh* ds lanHkZ esa fuEufyf[kr dFkuksa 
ij fopkj dhft;s%

	 1.	 ;g vkfFkZd lg;ksx vkSj fodkl laxBu izQseodZ 
ds rgr ,d Lok;Ùk laxBu gS] tks 30 lnL; 
ns'kksa vkSj 8 lg;ksxh ns'kksa ds lkFk oSf'od Lrj 
ij fo'oluh; lLrh ,oa LoPN ÅtkZ lqfuf'pr 
djus gsrq dk;Z djrk gSA

	 2-	 bldk eq[;ky; izQk¡l ds isfjl esa gSA

	 3-	 Hkkjr bl ,tsalh dk laLFkkid lnL; ns'k gSA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 1 vkSj 2

	 (c)	 dsoy 2 vkSj 3 	 (d)	 1] 2 vkSj 3
	 60.	^lkbDyksiQkbu ,;j* ds lanHkZ esa fuEufyf[kr dFkuksa ij 

fopkj dhft;s%
	 1.	 bl ,;j I;wjhiQk;j dk fuekZ.k vkbZ-vkbZ-Vh- enzkl 

ds flfoy bathfu;fjax foHkkx rFkk ;gk¡ ds gh 
fo|kfFkZ;ksa ds ,d LVkVZvi ,UohVªku }kjk fd;k 
x;kA

	 2-	 bl ,;j I;wjhiQk;j dk eq[; dk;Z ok;q esa ekStwn 
iznw"kdksa rFkk ikfVZdqysV eSVj (PM 2-5 rFkk 
PM10) dk fu"dklu djuk gSA 

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2

	 (c)	 1 vkSj 2 nksuksa 	 (d)	 u rks 1] u gh 2
	61.	fuEufyf[kr esa ls dkSu&lk@ls 'kgj ;wusLdks dh fØ,fVo 

flVht dh lwph esa 'kkfey ugha gS@gSa\
	 1.	 t;iqj	 2-	okjk.klh

	 3-	 ukyank	 4-	psUubZ

	 5-	 gSnjkckn	 6-	eqacbZ

	 	dwV%

	 (a)	 dsoy 3	 (b)	 dsoy 3] 5 vkSj 6

	 (c)	 dsoy 1] 2 vkSj 4 	 (d)	 dsoy 4] 5 vkSj 6
	62.	gky gh esa ^xksV~Vhizksyw* uked LFky esa Hkkjrh; iqjkrÙo 

losZ{k.k }kjk dh xbZ [kqnkbZ ls izkxSfrgkfld dky esa 
O;kikfjd dsanz gksus dk ladsr feyk gS] lkFk gh ;gk¡ 
[kqnkbZ esa 2000 o"kZ iqjkuh b±Vksa dh lajpuk vkSj Hkxoku 
fo".kq dh ewfrZ Hkh feyh gSA ^xksV~Vhizksyw* fuEufyf[kr esa 
ls fdl jkT; esa gS\

	 (a)	 dsjy	 (b)	 rfeyukMq

	 (c)	 vka/z izns'k 	 (d)	 rsyaxkuk
	 63.	fuEufyf[kr dFkuksa ij fopkj dhft;s%
	 1.	 fo'o LokLF; laxBu }kjk tkjh ,d gkfy;k fjiksVZ 

ds vuqlkj] rdjhcu 7.5% Hkkjrh; fdlh&u&fdlh 
:i esa ekufld fodkj ls xzLr gSaA

	 59.	 Consider the following statements in the context 
of 'International Energy Agency':

	 1.	 It is an autonomous organization under the 
Organization for Economic Co-operation 
and Development, which works with 30 
member countries and 8 partner countries to 
ensure reliable, affordable and clean energy 
globally.

	 2.	 It is headquartered in Paris, France.
	 3.	 India is the founding member country of 

this agency.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 only	 (b)	 1 and 2 only
	 (c)	 2 and 3 only	 (d)	 1, 2 and 3

	 60.	 Consider the following statements in the context 
of 'Cyclofine Air':

	 1.	 This air purifier was built by the civil 
engineering department of IIT Madras and 
an startup of its alumni called EnviTran.

	 2.	 The main function of this air purifier is to 
remove pollutants and particulate matter 
(PM 2.5 and PM 10) which is present in the 
air.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2

	 61.	 Which of the following cities is/are not included 
in UNESCO's list of Creative Cities?

	 1.	 Jaipur	 2.	 Varanasi
	 3.	 Nalanda	 4.	 Chennai
	 5.	 Hyderabad	 6.	 Mumbai

		  Code:
	 (a)	 3 only	 (b)	 3, 5 and 6 only
	 (c)	 1, 2 and 4 only	 (d)	 4, 5 and 6 only

	 62.	 Recently a site called 'Gottiprolu' was excavated 
by the Archaeological Survey of India, this 
excavation has indicated to be a trading centre in 
prehistoric times, as well as a 2000-year-old brick 
structure and an idol of Lord Vishnu has also been 
found. 'Gottiprolu' is situated in which of the 
following states?

	 (a)	 Kerala	 (b)	 Tamil Nadu
	 (c)	 Andhra Pradesh	 (d)	 Telangana

	 63.	 Consider the following statements:
	 1.	 According to a recent report released by the 

World Health Organization, nearly 7.5% of 
Indians suffer from mental disorder in one 
form or the other.
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	 2-	 MCY;w-,p-vks- dk vuqeku gS fd o"kZ 2020 rd 
Hkkjr dh yxHkx 12% tula[;k ekufld jksxksa 
ls ihfM+r gksxhA

	 3-	 Hkkjr esa ekufld LokLF; ij fd;k tkus okyk 
O;; dqy ljdkjh LokLF; O;; dk ek=k 1.3% 
gSA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh ugha gS@gSa\

	 (a)	 dsoy 2	 (b)	 dsoy 1 vkSj 3

	 (c)	 dsoy 2 vkSj 3 	 (d)	 1] 2 vkSj 3
	 64.	^lk¡l vfHk;ku* ds lanHkZ esa fuEufyf[kr dFkuksa ij 

fopkj dhft;s%
	 1.	 bl vfHk;ku dh 'kq#vkr LokLF; ,oa ifjokj 

dY;k.k ea=kky; }kjk dh xbZA

	 2-	 bldk mn~ns'; uotkr f'k'kqvksa esa fueksfu;k ls 
gksus okyh ekSrksa dks de djuk gSA

	 3-	 Hkkjr esa ik¡p o"kZ ls de vk;q ds cPpksa dh dqy 
ekSrksa esa 15 izfr'kr dh ekSr fueksfu;k dh otg 
ls gksrh gSA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 vkSj 3	 (b)	 dsoy 2

	 (c)	 dsoy 3 	 (d)	 1] 2 vkSj 3
	65.	^Hkkjrh; varnsZ'kh; tyekxZ izkf/dj.k* ds lanHkZ esa 

fuEufyf[kr dFkuksa ij fopkj dhft;s%
	 1.	 varnsZ'kh; tyekxks± ds fodkl vkSj fofu;eu gsrq 

Hkkjrh; varnsZ'kh; tyekxZ izkf/dj.k dh LFkkiuk 
27 vDVwcj] 1986 dks dh xbZA

	 2-	 ;g iksr ifjogu ea=kky; ls izkIr vuqnku ds 
ekè;e ls jk"Vªh; tyekxks± ij varnsZ'kh; ty 
ifjogu volajpuk ds fodkl vkSj vuqj{k.k dk 
dk;Z djrk gSA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2

	 (c)	 1 vkSj 2 nksuksa 	 (d)	 u rks 1] u gh 2
	66.	fuEufyf[kr dFkuksa ij fopkj dhft;s%
	 1.	 ^,Dok vYVk* ,fMª;kfVd lkxj esa vlk/kj.k 

mPp Tokj dks fn;k x;k uke gSA

	 2-	 osful mÙkj&iwoZ bVyh esa ,fMª;kfVd lkxj ds 
rV ij fLFkr gSA

	 3-	 osful esa mPp Tokj tfur ck<+ dh leL;k ds 
lek/ku ds fy;s ^MOSE* uked ,d ck<+ 
vojks/d iz.kkyh dk izLrko fd;k x;k gSA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 2	 (b)	 dsoy 1 vkSj 2

	 (c)	 1] 2 vkSj 3 	 (d)	 dsoy 2 vkSj 3

	 2.	 The WHO estimates that about 12% of 
India's population will suffer from mental 
illnesses by the year 2020.

	 3.	 Mental health expenditure in India is 
only 1.3% of total government health 
expenditure.

		  Which of the statement(s) given above is/are not 
correct?

	 (a)	 2 only	 (b)	 1 and 3 only
	 (c)	 2 and 3 only	 (d)	 1, 2 and 3

	 64.	 Consider the following statements in the context 
of 'SAANS campaign':

	 1.	 This campaign was started by the Ministry 
of Health and Family Welfare.

	 2.	 It aims to reduce pneumonia deaths in 
newborns.

	 3.	 In India, 15 percent of the total deaths of 
children under five year of age are due to 
pneumonia.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 and 3 only	 (b)	 2 only
	 (c)	 3 only	 (d)	 1, 2 and 3

	 65.	 Consider the following statements in the context 
of 'Inland Waterways Authority of India':

	 1.	 Inland Waterways Authority of India was 
established on 27 October 1986 for the 
development and regulation of inland 
waterways.

	 2.	 It undertakes the development and 
maintenance of inland water transport 
infrastructure on national waterways 
through a grant received from the Ministry 
of Shipping.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2

	 66.	 Consider the following statements:
	 1.	 'Acqua Alta' is a name given to exceptionally 

high tides in the Adriatic Sea.
	 2.	 Venice is located on the coast of the Adriatic 

Sea in north-east Italy.
	 3.	 A flood prevention system called 'MOSE' 

has been proposed in order to solve the 
problem of high tide floods in Venice.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 2 only	 (b)	 1 and 2 only
	 (c)	 1, 2 and 3	 (d)	 2 and 3 only
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	 67.	psUubZ ck<+ psrkouh iz.kkyh (lh-,iQ-,y-vks-MCY;w-,l-) 
ds lanHkZ esa fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 ;g jk"Vªh; egklkxj izkS|ksfxdh laLFkku }kjk 
fodflr Hkkjr dh igyh ,dhÑr rVh; ck<+ 
psrkouh iz.kkyh gSA

	 2-	 ;g ,d ,dhÑr HkkSxksfyd lwpuk iz.kkyh ij 
vk/kfjr gS] tks 10 fnu igys rd laHkkfor ck<+ 
ds iwokZuqeku dh tkudkjh nsrh gSA

	 3-	 bldk mi;ksx ck<+ ls igys lek/ku ;kstuk ds 
lapkyu vkSj ck<+ ds le; jkgr dk;ks± ds lapkyu 
tSls nksuksa igyqvksa ds fy;s fd;k tk ldrk gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 1] 2 vkSj 3	 (b)	 dsoy 3

	 (c)	 dsoy 1 vkSj 2 	 (d)	 dsoy 2 vkSj 3
	 68.	^jk"Vªh; egklkxj izkS|ksfxdh laLFkku* ds lanHkZ esa 

fuEufyf[kr dFkuksa ij fopkj dhft;s%
	 1.	 ;g uoacj 1993 esa Hkkjr ljdkj ds i`Foh foKku 

ea=kky; ds rgr ,d Lok;Ùk lkslk;Vh ds :i 
esa LFkkfir fd;k x;k FkkA

	 2-	 bldk mn~ns'; Hkkjr ds vuU; vkfFkZd {ks=k esa 
lalk/uksa ds leqfpr nksgu ds fy;s Lons'kh 
rduhd fodflr djuk gSA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2

	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1] u gh 2
	69.	^bafM;k tfLVl fjiksVZ* ds lanHkZ esa fuEufyf[kr dFkuksa 

ij fopkj dhft;s%
	 1.	 Hkkjrh; U;k; iz.kkyh ds laca/ esa VkVk VªLV }kjk 

tkjh ^bafM;k tfLVl fjiksVZ* ds vuqlkj] iwjs ns'k 
esa yksxksa dks U;k; nsus ds ekeys esa egkjk"Vª lcls 
vkxs gSA

	 2-	 fjiksVZ ds vuqlkj] U;k;ra=k ds ekeys esa lcls 
[kjkc izn'kZu fcgkj vkSj mÙkj izns'k dk jgkA

	 3-	 fjiksVZ ds vuqlkj] iqfyl {kerk ds ekeys esa 
jktLFkku vkSj mÙkj izns'k Øe'k% igys vkSj nwljs 
LFkku ij jgsA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh ugha gS@gSa\

	 (a)	 dsoy 1 vkSj 2	 (b)	 dsoy 3

	 (c)	 dsoy 2 	 (d)	 1] 2 vkSj 3
	70.	^Hkkjrh; iks"k.k Ñf"k dks"k* ds lanHkZ esa fuEufyf[kr 

dFkuksa ij fopkj dhft;s%
	 1.	 18 uoacj] 2019 dks dasnzh; efgyk ,oa cky 

fodkl ea=kky; us Hkkjrh; iks"k.k Ñf"k dks"k dh 
'kq#vkr dhA

	 67.	 Consider the following statements in the context 
of Chennai Flood Warning System (CFLOWS):

	 1.	 It is India's first integrated coastal flood 
warning system developed by the National 
Institute of Ocean Technology.

	 2.	 It is based on an integrated geographic 
information system, which gives 
information about the potential flood 
forecast up to 10 days in advance.

	 3.	 It can be used for both aspects such as the 
operation of the resolution plan before the 
flood and the relief work at the time of 
flood.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1, 2 and 3	 (b)	 3 only
	 (c)	 1 and 2 only	 (d)	 2 and 3 only

	 68.	 With reference to 'National Institute of Ocean 
Technology' Consider the following statements:

	 1.	 It was established as an autonomous society 
under the Ministry of Earth Sciences, 
Government of India in November 1993.

	 2.	 Its objective is to develop indigenous 
technology for proper exploitation of 
resources in India's exclusive economic 
zone.

		  Which of the statement(s) given above is/are correct?
	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2

	 69.	 Consider the following statements in the context 
of 'India Justice Report':

	 1.	 According to the 'India Justice Report' 
released by the Tata Trusts regarding the 
Indian justice system, Maharashtra is at 
the forefront of delivering justice to people 
across the country.

	 2.	 According to the report, Bihar and Uttar 
Pradesh were the worst performers in the 
case of judiciary.

	 3.	 According to the report, Rajasthan and Uttar 
Pradesh ranked first and second respectively 
in terms of police capability.

		  Which of the statement(s) given above is/are not 
correct?

	 (a)	 1 and 2 only	 (b)	 3 only
	 (c)	 2 only	 (d)	 1, 2 and 3

	 70.	 Consider the following statements in the context 
of 'Nutrition Agricultural Fund of India':

	 1.	 The Union Ministry of Women and Child 
Development launched the Indian Nutrition 
Agricultural Fund  on November 18, 2019.
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	 2-	 efgyk vkSj cky fodkl ea=kky; bl ifj;kstuk 
dks fcy ,aM esfyaMk iQkmaMs'ku ds lg;ksx ls 
pyk,xkA

	 3-	 bldk mn~ns'; dqiks"k.k dks nwj djus ds fy;s 
cgq{ks=kh; <k¡pk fodflr djuk gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 3	 (b)	 dsoy 1 vkSj 2

	 (c)	 dsoy 2 vkSj 3 	 (d)	 1] 2 vkSj 3
	71.	^lqjaxk ckoM+h* ds lanHkZ esa fuEufyf[kr dFkuksa esa ls 

dkSu&lk@ls lgh gS@gSa\
	 1.	 ;g dukZVd ds fot;iqjk esa fLFkr gSA

	 2.	 U;w;kdZ fLFkr xSj ljdkjh laxBu fo'o Lekjd 
dks"k us izkphu Hkwfexr ty iz.kkyh lqjaxk ckoM+h 
dks fo'o Lekjd fuxjkuh lwph&2020 esa 'kkfey 
fd;k gSA

	 3.	 bl ckoM+h dk fuekZ.k 16oha 'krkCnh esa vkfny 
'kkg izFke us djk;k FkkA

	 dwV%

	 (a)	 1, 2 vkSj 3	 (b)	 dsoy 2 vkSj 3

	 (c)	 dsoy 1 vkSj 2 	 (d)	 dsoy 3
	 72.	^dqax iwQ uUl* ds lanHkZ esa fuEufyf[kr dFkuksa ij fopkj 

dhft;s%
	 1.	 dqax iwQ uUl 1000 lky iqjkuh Mªwdik fojklr 

ds yxHkx 700 uUl dk ,d etcwr leqnk; gSA

	 2.	 gky gh esa dqax iwQ uUl dks U;w;kWdZ esa ,f'k;kfVd 
lkslkbVh ds izfrf"Br xse psatj vokMZ ls lEekfur 
fd;k x;kA

	 3.	 dqax iwQ uUl dks fgeky;h {ks=k esa efgykvksa ds 
l'kDrhdj.k vkSj efgyk&iq#"k vk/kfjr HksnHkko 
dks nwj djus ds fy;s muds }kjk fd;s x,   
vuqdj.kh; dk;ks± ds fy;s ;g vokMZ fn;k x;kA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 1 vkSj 2

	 (c)	 dsoy 2 vkSj 3 	 (d)	 1] 2 vkSj 3
	73.	^uks euh iQkWj Vsjj* ij lEesyu ds lanHkZ esa fuEufyf[kr 

dFkuksa ij fopkj dhft;s%
	 1.	 6-8 uoacj] 2019 rd esycuZ (vkWLVªsfy;k) esa 

^uks euh iQkWj Vsjj* ij ea=khLrjh; lEesyu dk 
vk;kstu fd;k x;kA

	 2.	 ;g lEesyu ^,XeksaV xzqi* }kjk vk;ksftr fd;k 
tkrk gS tks 164 ns'kksa dh foÙkh; [kqfiQ;k bdkb;ksa 
dk ,d lewg gSA

	 3.	 o"kZ 2020 esa Hkkjr ^uks euh iQkWj Vsjj* ij 
ea=khLrjh; lEesyu dh estckuh djsxkA

	 2.	 The Ministry of Women and Child 
Development will run this project in 
collaboration with Bill & Melinda Gates 
Foundation.

	 3.	 Its objective is to develop a multi-sectoral 
framework to eliminate malnutrition.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 3 only	 (b)	 1 and 2 only
	 (c)	 2 and 3 only	 (d)	 1, 2 and 3

	 71.	 With reference to 'Suranga Bawadi', which of the 
following statement(s) is/are correct?

	 1.	 It is located in Vijayapura, Karnataka.
	 2.	 New York-based NGO World Monument 

Fund has included the ancient underground 
water system Suranga Bawadi in the World 
Monument Monitoring List-2020.

	 3.	 This Suranga Bawadi was built by Adil 
Shah-I in the 16th century.

		  Code:
	 (a)	 1, 2 and 3	 (b)	 2 and 3 only
	 (c)	 1 and 2 only	 (d)	 3 only

	 72.	 Consider the following statements in the context 
of 'Kung Fu Nuns':

	 1.	 Kung Fu Nuns is a strong community of 
about 700 nuns, who belongs to 1000 years 
old Drukpa heritage.

	 2.	 Recently Kung Fu Nuns were awarded 
by the Asiatic Society's prestigious Game 
Changer Award in New York.

	 3.	 The Kung Fu Nuns were given this award 
for their exemplary work of women 
empowerment and elimination of gender 
discrimination based on women in the 
Himalayan region.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 only	 (b)	 1 and 2 only
	 (c)	 2 and 3 only	 (d)	 1, 2 and 3

	 73.	 Consider the following statements in the context 
of conference on 'No Money for Terror':

	 1.	 A Ministerial Conference on 'No Money for 
Terror' was held in Melbourne (Australia) 
from 6-8 November 2019.

	 2.	 The conference is organized by the Egmont 
Group, a group of financial intelligence 
units from 164 countries.

	 3.	 India will host a Ministerial Conference on 
'No Money for Terror' in the year 2020.
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	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 1 vkSj 2

	 (c)	 dsoy 2 vkSj 3 	 (d)	 1] 2 vkSj 3
	74.	fuEufyf[kr dFkuksa ij fopkj dhft;s%
	 1.	 gky gh esa jk"Vªifr jkeukFk dksfoan }kjk U;k;ewfrZ 

^'kjn vjfoan ckscM+s* dks Hkkjr ds 47osa eq[; 
U;k;k/h'k ds :i easa fu;qDr fd;k x;kA

	 2.	 Hkkjr ds eq[; U;k;k/h'k vkSj loksZPp U;k;ky; 
ds vU; U;k;k/h'kksa dh fu;qfDr jk"Vªifr }kjk 
lafo/ku ds vuqPNsn 124 ds [kaM (2) ds rgr 
dh tkrh gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2

	 (c)	 1 vkSj 2 nksukas	 (d)	 u rks 1] u gh 2
	 75.	izFke Hkkjr&ckaXykns'k fgr/kjd cSBd 23 vDVwcj] 2019 

dks fuEufyf[kr eas ls fdl jkT; esa vk;ksftr fd;k 
x;k\

	 (a)	 if'pe caxky	 (b)	 vle

	 (c)	 v#.kkpy izns'k 	 (d)	 f=kiqjk 
	 76.	^foaQcysZ izfØ;k* ds lanHkZ esa fuEufyf[kr dFkuksa ij 

fopkj dhft;s%
	 1.	 18-22 uoacj] 2019 dks foaQcysZ izfØ;k izek.ku 

;kstuk dh cSBd dk vk;kstu nf{k.k vizQhdk esa 
fd;k x;kA

	 2.	 foaQcysZ izfØ;k ghjs ds nq#i;ksx dks jksdus ds 
fy;s dbZ ns'kksas] m|ksxksa vkSj ukxfjd lektksa dh 
,d la;qDr igy gSA

	 3.	 Hkkjr foaQcysZ izfØ;k izek.ku ;kstuk ds laLFkkid 
lnL;ksa esa ls ,d gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh ugha gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 1 vkSj 2

	 (c)	 dsoy 2 vkSj 3 	 (d)	 1] 2 vkSj 3
	77.	^ukxktqZu lkxj Jh'kSye Vkbxj fjtoZ* ds lanHkZ esa 

fuEufyf[kr dFkuksa ij fopkj dhft;s%
	 1.	 ;g Hkkjr dk lcls cM+k Vkbxj fjtoZ gSA

	 2.	 ;g d`".kk unh ds rV ij vofLFkr gS rFkk 
egkjk"Vª ,oa dukZVd ds 5 f”kyksas esa foLrkfjr 
gSA

	 3.	 o"kZ 1978 esa bls laj{k.k gsrq vf/lwfpr fd;k 
x;k Fkk rFkk o"kZ 1983 esa bls izkstsDV Vkbxj esa 
'kkfey fd;k x;kA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 2	 (b)	 dsoy 1 vkSj 3

	 (c)	 dsoy 2 vkSj 3 	 (d)	 1] 2 vkSj 3

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 only	 (b)	 1 and 2 only
	 (c)	 2 and 3 only	 (d)	 1, 2 and 3

	 74.	 Consider the following statements:
	 1.	 Recently Justice 'Sharad Arvind Bobade' 

was appointed as the 47th Chief Justice of 
India by President Ramnath Kovind.

	 2.	 The Chief Justice of India and other judges 
of the Supreme Court are appointed by the 
President under clause (2) of Article 124 of 
the Constitution.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2

	 75.	 The first India-Bangladesh stakeholder meeting 
was held on October 23, 2019 in which of the 
following states?

	 (a)	 West Bengal	 (b)	 Assam
	 (c)	 Arunachal Pradesh	 (d)	 Tripura

	 76.	 Consider the following statements in the context 
of  'Kimberley Process':

	 1.	 Kimberley Process Certification Scheme 
meeting was held in South Africa on 18-22 
November 2019.

	 2.	 The Kimberley Process is a joint initiative 
of many countries, industries and civil 
societies to prevent the misuse of diamonds.

	 3.	 India is one of the founding members of the 
Kimberley Process Certification Scheme.

		  Which of the statement(s) given above is/are not 
correct?

	 (a)	 1 only	 (b)	 1 and 2 only
	 (c)	 2 and 3 only	 (d)	 1, 2 and 3

	 77.	 Consider the following statements in the context 
of  'Nagarjuna Sagar Srisailam Tiger Reserve':

	 1.	 It is the largest tiger reserve in India.
	 2.	 It is situated on the bank of the Krishna River 

and extends into 5 districts of Maharashtra 
and Karnataka.

	 3.	 In the year 1978 it was notified for 
conservation and in the year 1983 it was 
included in Project Tiger.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 2 only	 (b)	 1 and 3 only
	 (c)	 2 and 3 only	 (d)	 1, 2 and 3
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	78.	^fcElVsd canjxkg lEesyu* ds lanHkZ esa fuEufyf[kr 
dFkuksa ij fopkj dhft;s%

	 1.	 vka/z izns'k ds fo'kk[kkiÙkue esa tgktjkuh ea=kky; 
}kjk 7-8 uoacj] 2019 dks igys fcElVsd canjxkg 
lEesyu dk vk;kstu fd;k x;kA

	 2.	 bl lEesyu dk mn~ns'; vk;kr&fu;kZr rFkk rVh; 
tgktjkuh dks izksRlkfgr dj vkfFkZd lg;ksx 
c<+kus dh laHkkouk dks ryk'kuk gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2

	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1] u gh 2
	 79.	^psukuh uk'kjh lqjax* ds lanHkZ esa fuEufyf[kr dFkuksa ij 

fopkj dhft;s%
	 1.	 gky gh esa bl lqjax dk uke cnydj MkW- ';kek 

izlkn eq[kthZ lqjax djus dh ?kks"k.kk dh xbZA

	 2.	 9 fdyksehVj yackbZ dh ;g lqjax ns'k dh lcls 
yach vk/qfud lqjax gS] tks tEew vkSj d'ehj esa 
m/eiqj dks jkecu ls tksM+rh gSA

	 3.	 ;g Hkkjr dh igyh o fo'o dh NBh lM+d 
lqjax gS ftlesa VªkalolZ osafVys'ku flLVe gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gS\

	 (a)	 dsoy 1	 (b)	 1] 2 vkSj 3

	 (c)	 dsoy 3 	 (d)	 dsoy 1 vkSj 2
	 80.	^pØokr egk* ds lanHkZ esa fuEufyf[kr dFkuksa ij fopkj 

dhft;s%
	 1.	 ^pØokr egk* o"kZ 2019 esa mÙkj&iwoZ ekulwu 

ls mRiUu nwljk pØokrh rwiQku gS tks dsi dseksfju 
ds lehi mRiUu gqvk FkkA

	 2.	 bl pØokr dk ukedj.k vkseku }kjk fd;k x;kA

	 3.	 ;g pØokr y{k}hi] nf{k.k&iwoZ vjc lkxj rFkk 
ekynho ds vklikl ds {ks=kksa esa lfØ; FkkA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 3	 (b)	 dsoy 1 vkSj 2

	 (c)	 1] 2 vkSj 3 	 (d)	 dsoy 2 vkSj 3
	81.	gky gh esa fuEufyf[kr esa ls fdl ns'k }kjk o"kZ 2050 

rd dqy dkcZu mRltZu dks 'kwU; djus ds mn~ns'; ls 
^thjks dkcZu* fcy ikfjr fd;k x;k gS\

	 (a)	 vkWLVsªfy;k	 (b)	 U;wthySaM

	 (c)	 Hkkjr 	 (d)	 ;w-,l-,-
	82.	^Hkhfeyh mRlo&2019* ds lanHkZ esa fuEufyf[kr dFkuksa 

ij fopkj dhft;s%
	 1.	 vka/z izns'k esa fo'kk[kkiÙkue ftys ds HkheqfuiV~Vue 

esa nks fnolh; Hkhfeyh mRlo&2019 dk vk;kstu 
fd;k x;kA

	 78.	 Consider the following statements in the context 
of 'BIMSTEC Conclave of Ports':

	 1.	 The first BIMSTEC Conclave of Ports was 
organized by the Ministry of Shipping in 
Visakhapatnam, Andhra Pradesh on 7-8 
November 2019.

	 2.	 The purpose of this conference is to explore 
the possibility of increasing economic 
cooperation through promotion of import-
export and coastal shipping.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2
	 79.	 Consider the following statements in the context 

of 'Chenani Nashri Tunnel':
	 1.	 Recently the name of this tunnel has been 

changed to Dr. Shyama Prasad Mukherjee 
Tunnel.

	 2.	 The 9 km long tunnel is the longest modern 
tunnel in the country, which connects 
Udhampur in Jammu and Kashmir with 
Ramban.

	 3.	 It is India's first and sixth road tunnel in the 
world with transverse ventilation system.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 only	 (b)	 1, 2 and 3
	 (c)	 3 only	 (d)	 1 and 2 only
	 80.	 Consider the following statements in the context 

of 'Cyclone Maha':
	 1.	 'Cyclone Maha' is the second cyclonic storm 

originating from the northeast monsoon in 
the year 2019, which originated near Cape 
Camorin.

	 2.	 The cyclone was named by Oman.
	 3.	 The cyclone was active in Lakshadweep, 

southeast Arabian Sea and adjoining areas 
of Maldives.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 3 only	 (b)	 1 and 2 only
	 (c)	 1, 2 and 3	 (d)	 2 and 3 only
	 81.	 Recently which of the following countries has 

passed the 'Zero Carbon' bill with the objective of 
reducing total carbon emissions by 2050?

	 (a)	 Australia	 (b)	 New Zealand
	 (c)	 India	 (d)	 USA
	 82.	 Consider the following statements in the context 

of 'Bheemili Utsav-2019':
	 1.	 A two-day Bheemili festival-2019 

was organized at Bhimunipatnam of 
Visakhapatnam district in Andhra Pradesh.



24lkekU; vè;;u

(General Studies)

eSx”khu VsLV

(Magazine Test)

641] çFke ry] eq[kthZ uxj] fnYyh&110009
nwjHkk"k% 8750187501, 011-47532596

bZ&esy% helpline@groupdrishti.com, osclkbV% www.drishtiIAS.com
isQlcqd% https://www.facebook.com/drishtithevisionfoundation

 Copyright –  Drishti The Vision Foundation

	 2.	 bl mRlo dk eq[; vkd"kZ.k cSyxkM+h nkSM+ gSA

	 3.	 mRlo ds nkSjku yksd dykdkjksa vkSj eNqvkjksa   
}kjk ikjaifjd u`R; ̂ iqyh os'kyq* dk izn'kZu fd;k 
x;kA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 1 vkSj 2

	 (c)	 dsoy 2 vkSj 3 	 (d)	 1] 2 vkSj 3
	 83.	^Hkvksuk yksdu`R;* ds lanHkZ esa fuEufyf[kr dFkuksa ij 

fopkj dhft;s%
	 1.	 ;g >kj[kaM dk yksd u`R; gS vkSj gky gh esa 

blds vaxzsth laLdj.k dk vk;kstu vkcw /kch esa 
fd;k x;kA

	 2.	 lar&lq/kjd 'akdjnso }kjk Hkvksuk dh 'kq#vkr 
yxHkx 500 o"kZ igys dh xbZ FkhA

	 3.	 lkekU;r% bldk eapu uke?kj (eafnj) vkSj trjk 
(oS".ko eBksa) esa fd;k tkrk gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh ugha gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 1 vkSj 2

	 (c)	 dsoy 2 vkSj 3 	 (d)	 1] 2 vkSj 3
	 84.	^czãiq=k iq"dje mRlo* ds lanHkZ esa fuEufyf[kr dFkuksa 

ij fopkj dhft;s%
	 1.	 uekfe czãiq=k mRlo ds ckn ;g vle dk nwljk 

lcls cM+k unh mRlo gSA

	 2.	 ;g 12 fnolh; unh mRlo vle jkT; esa 5 ls 
16 uoacj] 2019 dh vof/ esa euk;k x;kA 

	 3.	 o"kZ 2018 esa rfeyukMq ds fr:usyosyh ftys esa 
rkfejki.khZ ds rV ij iq"dje mRlo euk;k x;k 
FkkA

	 	mi;qZDr dFkuksa eas ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 1 vkSj 2

	 (c)	 dsoy 2 vkSj 3 	 (d)	 1] 2 vkSj 3
	85.	nf{k.k ,f'k;kbZ ns'kksa esa dkSu igyk ,slk ns'k gS ftlus 

eSp&fiQfDlax ls lacaf/r d`R;ksa dks vkijkf/d ?kksf"kr 
dj fn;k gS\

	 (a)	 Jhyadk	 (b)	 ikfdLrku

	 (c)	 ckaXykns'k 	 (d)	 viQxkfuLrku
	86.	fuEufyf[kr ;qXeksa ij fopkj dhft;s%
	 	 iqjLdkj			  izkIrdÙkkZ

	 1.	 l[kkjkso iqjLdkj	 & 	 bYgke rksgrh

	 2.	 baVSfy;u xksYMu	 & 	 lqn'kZu iVu;kd

	 	 lSaM vkVZ vokMZ

	 3.	 ykbiQ lkabl ds	 & 	 eatqyk jsM~Mh

	 	 fy;s bUiQksfll iqjLdkj

	 2.	 The main attraction of this festival is the 
bullock cart race.

	 3.	 The traditional dance 'Puli Veshlu' was 
performed by folk artists and fishermen 
during the festival.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 only	 (b)	 1 and 2 only
	 (c)	 2 and 3 only	 (d)	 1, 2 and 3

	 83.	 With reference to 'Bhaona folk dance', consider 
the following statements:

	 1.	 It is a folk dance of Jharkhand and recently 
its english version was organized in Abu 
Dhabi.

	 2.	 Bhaona was introduced by saint-reformer 
Shankardev about 500 years ago.

	 3.	 It is generally staged in Namghar (temple) 
and Jatra (Vaishnava monasteries).

		  Which of the statement(s) given above is/are not 
correct?

	 (a)	 1 only	 (b)	 1 and 2 only
	 (c)	 2 and 3 only	 (d)	 1, 2 and 3

	 84.	 With reference to 'Brahmaputra Pushkaram Utsav' 
consider the following statements:

	 1.	 It is the second largest river festival of 
Assam after the Namami Brahmaputra 
festival.

	 2.	 This 12-day river festival was celebrated in 
the state of Assam from 5 to 16 November, 
2019.

	 3.	 The Pushkaram festival was celebrated 
on the bank of Tamiraparni in Tirunelveli 
district of Tamil Nadu in the year 2018.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 only	 (b)	 1 and 2 only
	 (c)	 2 and 3 only	 (d)	 1, 2 and 3

	 85.	 Which of the following is the first South Asian 
countries that has declared acts related to match-
fixing as a criminal offence?

	 (a)	 Sri Lanka	 (b)	 Pakistan
	 (c)	 Bangladesh	 (d)	 Afghanistan

	 86.	 Consider the following pairs:
		  Award		  Recipient
	 1.	 Sakharov Award	 -	 Ilham Tohti
	 2.	 Italian Golden	 -	 Sudarshan Patnayak
		  Sand Art Award
	 3.	 Infosys Award for	 -	 Manjula Reddy
		  Life Science
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	 	mi;qZDr ;qXeksa esa ls dkSu&lk@ls lgh lqesfyr gS@gSa\

	 (a)	 1] 2 vkSj 3	 (b)	 dsoy 2

	 (c)	 dsoy 1 vkSj 2 	 (d)	 dsoy 3
	87.	vVy fVadfjax ySc dk;ZØe* ds lanHkZ esa fuEufyf[kr 

dFkuksa esa ls dkSu&lk@ls lgh ugha gS@gSa\
	 1.	 bl dk;ZØe dk lapkyu x`g ea=kky; ds rgr 

vVy uokpkj fe'ku }kjk fd;k tkrk gSA

	 2-	 bl dk;ZØe dk mn~ns'; ns'k ds Nk=k&Nk=kkvksa 
esa ftKklk vkSj rduhdh ekufldrk iSnk djuk 
gS rkfd ns'k ds Ldwyksa esa 'kks/ vkSj uokpkj dks 
c<+kok fn;k tk ldsA

	 	dwV%

	 (a)	 dsoy 1	 (b)	 dsoy 2

	 (c)	 1 vkSj 2 nksuksa 	 (d)	 u rks 1] u gh 2
	88.	^fMftVkbt bafM;k IysViQkWeZ (MhvkbZih)* ds lanHkZ esa 

fuEufyf[kr dFkuksa ij fopkj dhft;s%
	 1.	 ;g fMftVy bafM;k izksxzke ds rgr dsanz ljdkj 

dh ,d igy gSA

	 2-	 MhvkbZih ,d baVjiQsl gS tks fdlh Hkh laxBu 
dks nLrkostksa ;k okLrfod izfr;ksa dh LdSu dh 
xbZ best ds fy;s fMftVyhdj.k lsok,¡ iznku 
djrk gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2

	 (c)	 1 vkSj 2 nksuksa 	 (d)	 u rks 1] u gh 2
	89.	fuEufyf[kr dFkuksa ij fopkj dhft;s%
	 1.	 dkcZu VSDl mu iQeks± ij yxk;k tkrk gS tks fd 

mRiknu ds nkSjku dkcZu MkbvkWDlkbM (CO2) dk 
mRltZu djrs gSaA

	 2-	 Hkkjr fo'o esa pkSFkk izeq[k xzhu gkml xSl mRltZd 
ns'k gSA

	 3-	 iwjs fo'o esa gks jgs xzhu gkml xSlksa ds dqy 
mRltZu dk rdjhcu 7% vdsys gh Hkkjr }kjk 
mRlftZr dh tkrh gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 1] 2 vkSj 3	 (b)	 dsoy 1 vkSj 2

	 (c)	 dsoy 2 vkSj 3 	 (d)	 dsoy 3
	 90.	fuEufyf[kr ;qXeksa ij fopkj dhft;s%
	 	 Hkkjr ds yksd u`R;		 lacaf/r jkT;

	 1-	 xjck	 &	 xqtjkr

	 2-	 rjax esy	 &	 xksok

	 3-	 dkycsfy;k	 &	 NÙkhlx<+

	 4-	 pkjck	 &	 fgekpy izns'k

		  Which of the pair(s) given above is/are correctly 
matched?

	 (a)	 1, 2 and 3	 (b)	 2 only
	 (c)	 1 and 2 only	 (d)	 3 only

	 87.	 Which of the following statements is/are not 
correct in the context of 'Atal Tinkering Lab 
Program'?

	 1.	 The program is administered by the Atal 
Innovation Mission under the Ministry of 
Home Affairs.

	 2.	 The objective of this program is to inculcate 
curiosity and technical mentality among the 
students of the country so that research and 
innovation can be promoted in the schools 
of the country.

		  Code:
	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2

	 88.	 Consider the following statements in the context 
of 'Digitize India Platform (DIP'):

	 1.	 It is an initiative of the Central Government 
under the Digital India Program.

	 2.	 DIP is an interface that provides 
digitalization services to any organization 
for scanned images of documents or actual 
copies.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2

	 89.	 Consider the following statements:
	 1.	 Carbon tax is imposed on firms that emit 

carbon dioxide (CO2) during production.
	 2.	 India is the fourth major greenhouse gas 

emitter country in the world.
	 3.	 Around 7% of the total emission of green 

house gases is emitted by India alone.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1, 2 and 3	 (b)	 1 and 2 only
	 (c)	 2 and 3 only	 (d)	 3 only

	 90.	 Consider the following pairs:
		  Folk Dance of India		  Related States
	 1.	 Garba	 -	 Gujarat
	 2.	 Tarang Mail	 -	 Goa
	 3.	 Kalbeliya	 -	 Chhattisgarh
	 4.	 Charba	 -	 Himachal Pradesh
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	 	mi;qZDr ;qXeksa esa ls dkSu&lk@ls lqesfyr ugha gS@gSa\

	 (a)	 dsoy 3	 (b)	 dsoy 1 vkSj 2

	 (c)	 dsoy 2] 3 vkSj 4 	 (d)	 1] 2] 3 vkSj 4
	 91.	^xzhu DykbesV iQaM* ds lanHkZ eas fuEufyf[kr dFkuksa ij 

fopkj dhft;s%

	 1.	 bldh LFkkiuk dkudqu esa vk;ksftr gksus okys 
dksi 16 lEesyu ds nkSjku dh xbZ FkhA

	 2-	 bldk dk;Z tyok;q ifjorZu ls lacaf/r leL;kvksa 
ls fuiVus ds fy;s fd;s tkus okys vuqdwyu vkSj 
'keu laca/h fØ;kdykiksa ds fy;s fodkl'khy 
ns'kksa dh enn djuk gSA

	 3-	 fo'o cSad bl iQaM dk varfje VªLVh gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 1 vkSj 2

	 (c)	 dsoy 2 vkSj 3 	 (d)	 1] 2 vkSj 3
	92.	lwph&I dks lwph&II ls lqesfyr dhft;s rFkk lwfp;ksa ds 

uhps fn;s x;s dwVksa dk iz;ksx djrs gq, lgh mÙkj dk 
p;u dhft;s%

	 	   lwph&I		 lwph&II

		  (izeq[k O;fDr)		  (in)

	 A.	 vjfoan flag	 1-	tEew&d'ehj dk igyk

	 	 	 	mijkT;iky

	 B.	 lq[kchj flag la/w	 2-	Hkkjrh; foekuiÙku 

	 	 	 	izkf/dj.k dk ps;jeSu

	 C.	 fxjh'k panz eqewZ	 3-	yn~nk[k dk igyk

	 	 	 	mijkT;iky

	 D.	 jk/k Ñ".k ekFkqj	 4-	Hkkjrh; jk"Vªh; jktekxZ

	 	 	 	izkf/dj.k dk izeq[k

	 	dwV%

		  A	 B	 C	 D

	 (a)	 2	 4	 1	 3

	 (b)	 4	 2	 1	 3

	 (c)	 4	 2	 3 	 1

	 (d)	 2	 4	 3	 1

	93.	^Hkkjr&m”csfdLrku f}i{kh; okrkZ* ds lanHkZ es a 
fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 Hkkjr us m”csfdLrku }kjk Hkkjr ls oLrqvksa ,oa 
lsokvksa dh [kjhn ds fy;s 40 fefy;u MkWyj 
dh ykbu vkWiQ ØsfMV nh gSA

	 2-	 bl volj ij Hkkjr vkSj m”csfdLrku ds eè; 
igyk la;qDr lSU; vH;kl ^MLVfyd&2019* 
rk'koaQn esa vk;ksftr fd;k x;kA

		  Which of the above pair(s) is/are not correctly 
matched?

	 (a)	 3 only	 (b)	 1 and 2 only
	 (c)	 2, 3 and 4 only	 (d)	 1, 2, 3 and 4

	 91.	 With reference to 'Green Climate Fund' consider 
the following statements:

	 1.	 It was established during the COP-16 
conference held in Cancun.

	 2.	 Its task is to help developing countries to 
adapt and mitigate activities to deal with 
problems related to climate change.

	 3.	 The Wor	ld Bank is the interim trustee of 
this fund.

		  Which of the statement(s) given above is/are correct?
	 (a)	 1 only	 (b)	 1 and 2 only
	 (c)	 2 and 3 only	 (d)	 1, 2 and 3

	 92.	 Match List-I with List-II and select the correct 
answer using the codes given below:

	 List-I	 List-II
	 (Key person)	 (Position)
	 A.	 Arvind Singh	 1.	First Lieutenant 
				   Governor of Jammu- 

Kashmir
	 B.	 Sukhbir Singh	 2.	Chairman of Airports
		  Sandhu		 Authority of India
	 C. 	Girish Chandra	 3.	First Lieutenant
		  Murmu		 Governor of Ladakh
	 D.	 Radha Krishna	 4.	Head of National
		  Mathur		 Highways Authority 

of India

		  Code:

		  A	 B	 C	 D

	 (a)	 2	 4	 1	 3

	 (b)	 4	 2	 1	 3

	 (c)	 4	 2	 3 	 1

	 (d)	 2	 4	 3	 1

	 93.	 Consider the following statements in the context 
of 'India-Uzbekistan bilateral dialogue':

	 1.	 India has given Uzbekistan a Line of Credit 
of 40 million dollars for purchasing of 
goods and services from India.

	 2.	 The first joint military exercise                                                      
'Dustlik-2019' between India and Uzbekistan 
was held in Tashkent on this occasion.
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	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2

	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1] u gh 2

	 94.	Hkkjr&lÅnh vjc laca/ ds lanHkZ esa fuEufyf[kr dFkuksa 

ij fopkj dhft;s%

	 1.	 lÅnh vjc Hkkjr dk pkSFkk lcls cM+k O;kikfjd 

Hkkxhnkj gSA

	 2-	 bZjkd ds ckn lÅnh vjc Hkkjr dks dPps rsy 

dk nwljk lcls cM+k vkiwfrZdÙkkZ gSA

	 3-	 lÅnh vjc esa yxHkx 26 yk[k Hkkjrh; izoklh 

jgrs gSa vkSj ;s izoklh leqnk; Hkkjr esa izfro"kZ 

yxHkx 11 vjc MkWyj dh jkf'k Hkstrs gSaA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 1] 2 vkSj 3	 (b)	 dsoy 1

	 (c)	 dsoy 2 	 (d)	 dsoy 1 vkSj 3

	 95.	^ØsfMV lqbl xzqi* ds lanHkZ esa fuEufyf[kr dFkuksa ij 

fopkj dhft;s%

	 1.	 bl xzqi dh LFkkiuk o"kZ 1856 esa fLoV~tjySaM esa 

gqbZ FkhA

	 2-	 ;g ,d cgqjk"Vªh; fuos'k cSad gS tks oSf'od 

foÙkh; izca/d ds :i esa dk;Z djrk gSA

	 3-	 bldk eq[;ky; isfjl esa fLFkr gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh ugha gS@gSa\

	 (a)	 dsoy 3

	 (b)	 dsoy 1 vkSj 2

	 (c)	 dsoy 2 vkSj 3

 	 (d)	 1] 2 vkSj 3

	96.	Hkkjr esa fOglyCyksvj dh lqj{kk ds lanHkZ esa fuEufyf[kr 

dFkuksa ij fopkj dhft;s%

	 1.	 Hkkjr esa fOglyCyksvj dks fOglyCyksvj laj{k.k 

vf/fu;e] 2014 }kjk lajf{kr fd;k tkrk gSA

	 2-	 fOglyCyksvj laj{k.k vf/fu;e] 2014 dks vHkh 

rd fØ;kfUor ugha fd;k x;k gSA

	 3-	 o"kZ 2014 ds vf/fu;e esa fOglyCyksvj ds 

lkFk gksus okys vR;kpkj dks ifjHkkf"kr ugha fd;k 

x;k gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 1 vkSj 2

	 (c)	 dsoy 2 vkSj 3 	 (d)	 1] 2 vkSj 3

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 only	 (b)	 2 only

	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2

	 94.	 With reference to India-Saudi Arabia relationship 
Consider the following statements:

	 1.	 Saudi Arabia is the fourth largest trading 
partner of India.

	 2.	 Saudi Arabia is the second largest supplier 
of crude oil to India after Iraq.

	 3.	 There are about 26 lakhs Indian diaspora 
living in Saudi Arabia and these diaspora 
communities send an amount of about 11 
billion dollars per year to India.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1, 2 and 3	 (b)	 1 only

	 (c)	 2 only	 (d)	 1 and 3 only

	 95.	 Consider the following statements in the context 
of 'Credit Suisse Group':

	 1.	 The group was founded in the year 1856 in 
Switzerland.

	 2.	 It is a multinational investment bank that 
acts as a global financial manager.

	 3.	 It's headquarter is situated in Paris.

		  Which of the statement(s) given above is/are not 
correct?

	 (a)	 3 only

	 (b)	 1 and 2 only

	 (c)	 2 and 3 only

	 (d)	 1, 2 and 3

	 96.	 With reference to the safety of whistleblowers in 
India Consider the following statements:

	 1.	 Whistleblowers in India are protected by 
the Whistleblower Protection Act, 2014.

	 2.	 The Whistleblower Protection Act, 2014 
has not been enacted yet.

	 3.	 The Act of 2014 does not define atrocities 
with whistleblowers.

		  Which of the statement(s) given above is/are correct?

	 (a)	 1 only	 (b)	 1 and 2 only
	 (c)	 2 and 3 only	 (d)	 1, 2 and 3
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	97.	gky gh esa lM+d ifjogu ,oa jktekxZ ea=kky; }kjk 
^Hkkjr esa lM+d nq?kZVuk,¡&2018* fjiksVZ tkjh dh xbZA 
bl lanHkZ esa fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 fjiksVZ ds vuqlkj jkT;ksa ds lanHkZ esa lokZf/d 
lM+d nq?kZVuk,¡ rfeyukMq esa gqb±A

	 2-	 lM+d nq?kZVukvksa esa gksus okyh ekSrksa ds ekeys esa 
mÙkj izns'k] egkjk"Vª vkSj rfeyukMq Øe'k% igys] 
nwljs vkSj rhljs LFkku ij gSaA

	 3-	 fjiksVZ ds vuqlkj] nq?kZVuk esa ejus okyksa esa yxHkx 
86% iq#"k gSa] tcfd yxHkx 14% efgyk,¡ gSaA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 vkSj 2	 (b)	 1] 2 vkSj 3

	 (c)	 dsoy 3 	 (d)	 dsoy 2
	 98.	fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 xkSrehiq=k 'kkrd.khZ dks ̂ osnksa dk vkJ;nkrk* dgk 
tkrk FkkA

	 2-	 lkrokguksa dh jktdh; Hkk"kk izkÑr rFkk fyfi 
czkãh FkhA

	 3-	 fo'kq¼ laLÑr esa igyk vfHkys[k ^#nznkeu* dk  
^twukx<+ vfHkys[k* gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 1 vkSj 2

	 (c)	 dsoy 2 vkSj 3 	 (d)	 1] 2 vkSj 3
	 99.	fuEufyf[kr lYrurdkyhu LFkkiR; esa fdldk laca/ 

bYrqrfe'k ls ugha gS\

	 (a)	 xa/d dh ckoyh	

	 (b)	 dqrqcehukj

	 (c)	 eksB efLtn

	 (d)	 lqYrkux<+h dk edcjk
	100.	fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 Hkkjr esa fizafVax izsl dh 'kq#vkr loZizFke vaxzstksa 
}kjk 19oha 'krkCnh esa dh xbZA

	 2-	 tsEl vkWxLVl fgDdh }kjk izdkf'kr fd;k x;k 
^n caxky xtV* Hkkjr ls izdkf'kr gksus okyk 
igyk v[kckj FkkA

	 3-	 Hkkjrh; lekpkj i=kksa dks izfrcaf/r djus ds fy;s 
1878 bZ- esa oukZD;wyj izsl ,DV ykWMZ fyVu    
}kjk yk;k x;kA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh ugha gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 3

	 (c)	 dsoy 1 vkSj 2 	 (d)	 1] 2 vkSj 3

	 97.	 Recently 'Road Accidents in India-2018' report 
was released by the Ministry of Road Transport 
and Highways. Consider the following statements 
in this context:

	 1.	 According to the report, in context of 
states, the highest number of road accidents 
occurred in Tamil Nadu.

	 2.	 Uttar Pradesh, Maharashtra and Tamil Nadu 
rank first, second and third respectively in 
deaths due to road accidents.

	 3.	 According to the report, about 86% of those 
who died in the accident are males, while 
about 14% are females.

		  Which of the statement(s) given above is/are correct?
	 (a)	 1 and 2 only	 (b)	 1, 2 and 3
	 (c)	 3 only	 (d)	 2 only

	 98.	 Consider the following statements:
	 1.	 Gautamiputra Shatkarni was called the 

'patron of the Vedas'.
	 2.	 The official language of the Satavahanas 

was Prakrit and the script Brahmi.
	 3.	 The first inscription in pure Sanskrit is the 

'Junagadh inscription' of 'Rudradaman'.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 only	 (b)	 1 and 2 only
	 (c)	 2 and 3 only	 (d)	 1, 2 and 3

	 99.	 Which of the following Sultanate architecture is 
not related to Iltutmish?

	 (a)	 Ghandhak ki Baoli
	 (b)	 Qutub Minar
	 (c)	 Moth Mosque
	 (d)	 Tomb of Sultangadi

	100.	 Consider the following statements:
	 1.	 The printing press in India was started first 

by the British in the 19th century.
	 2.	 The Bengal Gazette, published by James 

Augustus Hickey, was the first newspaper 
published from India.

	 3.	 The Vernacular Press Act was brought 
by Lord Lytton in 1878 to ban Indian 
newspapers.

		  Which of the statement(s) given above is/are not 
correct?

	 (a)	 1 only	 (b)	 3 only
	 (c)	 1 and 2 only	 (d)	 1, 2 and 3


